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The following table shows number of pages printed by five printers A to E during Monday to
Friday. Study the table and answer the following questions 1 —5:

Printers
S

A|lB|C|D|E
Days*
Monday 2520|135 |15 (25
Tuesday 40115 (30| 20| 20
Wednesday |22 |11 (33|40 |20
Thursday 32 (42| 32 | 80 | 22
Friday 3636|3735 |25

Sub questions

Question Number : 1 Question Id : 5362284083 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the average number of pages printed by printer C on Monday, Wednesday.
Thursday and Friday taken together?

(1) 33 (2) 33.25
(3) 34 (4) 34.25
Options :

53622815901. 1
53622815902. 2
53622815903. 3
53622815904. 4

Question Number : 2 Question Id : 5362284084 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which printer has printed third lowest number of pages 1n all the five days taken together?

() B @ C
(3) D 4y E
Options :

53622815905. 1
53622815906. 2
53622815907. 3
53622815908. 4

Question Number : 3 Question Id : 5362284085 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



In all five days of printing, what percentage of pages printed by printer D has been printed
by printer E?

(1) 5% (2) B80%
(3) 82% (4) 85%
Options :

53622815909. 1
53622815910. 2
53622815911. 3
53622815912. 4

Question Number : 4 Question Id : 5362284086 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the ratio between pages printed by printer E on Monday and pages printed by
printer D on Wednesday?

(1) b:6 (2) 6:5
(3) 15:6 4y bH:8
Options :

53622815913. 1
53622815914.2
53622815915.3
53622815916. 4

Question Number : 5 Question Id : 5362284087 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Total number of pages printed by all printers in five days 1s

(1) 673 (2) 636
(3) 698 (4) 703
Options :

53622815917. 1
53622815918. 2
53622815919. 3
53622815920. 4

Question Id : 5362284082 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (1 to 5)
Question Label : Comprehension



1= e ¥ HWER ¥ IEER F 20E 9 020 A 5 E g G T8 S S g9 T 7 | e 0

A T AN e T 1 -5 % A

o

THZ
—>

A

20

25

40

30

20

20

22

11

33

40

20

32

42

32

30

22

36

36

Sub questions

Question Number : 1 Question Id : 5362284083 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TIHAW, FUAT, FErulaan 317 THaw F1 fgem fize C g gz o9t 1 o de 71 27

(1) 33 (2) 33.25
(3) 34 (4) 34.25

Options :

53622815901. 1
53622815902. 2
53622815903. 3
53622815904. 4

Question Number : 2 Question Id : 5362284084 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tt wim feaat & oo Fi ¥ e 3 9 g9 w5 9w g e ey
(1) B (2 C

(3) D 4 E

Options :

53622815905. 1
53622815906. 2
53622815907. 3
53622815908. 4

Question Number : 3 Question Id : 5362284085 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1 75% (2) 80%
(3)  82% (4 85%

Options :

53622815909. 1
53622815910. 2
53622815911. 3
53622815912. 4

Question Number : 4 Question Id : 5362284086 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fier B grT wmam 1 9 gt s fier D gr guan i 9@ 99t e e s

(1) b:6 (2) 6:5
(3) 15: 6 (4 5:8

Options :

53622815913. 1
53622815914.2
53622815915.3
53622815916. 4

Question Number : 5 Question Id : 5362284087 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
ot A 4 i 9= g uiEa uut i w5 T e 2

(L 678 (2) 686
(3) 698 (4) 708

Options :

53622815917. 1
53622815918. 2
53622815919. 3
53622815920. 4

Sub-Section Number : 2
Sub-Section Id : 536228162
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5362284088 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The goal of teaching as compared to training is to provide opportunity of :

(1) Promotion of organized 1deas as a result of disciplined drill
(2) Sharing and caring leading to critical and creative reflection
(3) Establishing beliefs and values leading to change 1n attitude
(4) Associating ideas which are similar and dissimilar

Options :

53622815921. 1

53622815922. 2

53622815923. 3
53622815924. 4

Question Number : 6 Question Id : 5362284088 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622815921. 1
53622815922.2
53622815923.3
53622815924. 4

Question Number : 7 Question Id : 5362284089 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In Gagne's Learning hierarchy’ which of the learning tyvpes immediately precedes’ Concept
learning?

(1) Signal learning (2) S5-Rlearning
(3) Chain learming (4) Discrimination learnming
Options :

53622815925. 1
53622815926. 2
53622815927.3
53622815928. 4

Question Number : 7 Question Id : 5362284089 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622815925. 1
53622815926. 2
53622815927.3
53622815928. 4

Question Number : 8 Question Id : 5362284090 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

There 1s abundant scope for promoting concept learning under which stage of development of
learner?

(1) During infancy (2) During childhood

(3) During adolescence (4) During pre adolescence

Options :

53622815929. 1
53622815930. 2
53622815931. 3
53622815932. 4

Question Number : 8 Question Id : 5362284090 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622815929. 1
53622815930. 2
53622815931.3
53622815932. 4

Question Number : 9 Question Id : 5362284091 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Use of programmed instructional material as supplement has the potential
to optimise learning outcomes.

Statement IT : ICT. if used. judiciously will render teaching-learning systems effective and
efficient.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement Il are correct
(2 Both Statement I and Statement II are incorrect

(3 Statement I is correct but Statement II is incorrect
(4) Statement I 1s incorrect but Statement II is correct
Options :

53622815933. 1
53622815934. 2
53622815935.3
53622815936. 4

Question Number : 9 Question Id : 5362284091 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
53622815933. 1
53622815934. 2

53622815935. 3
53622815936. 4

Question Number : 10 Question Id : 5362284092 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1= labelled as

Reason (R) :

Assertion (A) :

Reason (R) :

For ensuring successful teaching-learning systems both Norm-Reference
Testing (NRT) and Criterion-Referenced Testing (CRT) procedures for
interpretation of scores have to be synthesized.

Parents and educational administrators alongwith the students
themselves need to know the status of accomplishment in terms of laid
down criteria and relative positions of the participants vis-a-vis that of
others.

In the hight of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)

(3) (A) 1= true but (R) 1s false

(4) (A) 1s false but (R) 1= true

Options :

53622815937. 1
53622815938. 2
53622815939.3
53622815940. 4

Question Number : 10 Question Id : 5362284092 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No

Correct Marks : 2 Wrong Marks :
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Options :
53622815937. 1
53622815938. 2
53622815939.3
53622815940. 4

Question Number : 11 Question Id : 5362284093 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

In which of the following methods of research. hypotheses are usually implied rather than

being explicit?

(1) Descriptive survey method (2) Haistorical method
(3) Experimental method {(4) Ex-post facto method

Options :

53622815941. 1
53622815942. 2
53622815943.3
53622815944. 4

Question Number : 11 Question Id : 5362284093 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622815941. 1
53622815942. 2
53622815943. 3
53622815944. 4

Question Number : 12 Question Id : 5362284094 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the features of qualitative research from the following :

(A)  Researcher becomes immersed in the situation present or past
(B) Researcher 1s detached from the study to avoild bias

(C) It develops context-bound generalizations

(D) It 1s based on logical positivist philosophy

(E) It uses an emergent research design

Choose the correct answer from the options given below :

(1)  (A). (B) and (C) only (2) (B). (C) and (D) only
(3)  (A). (C) and (E) only (4) (C). (D) and (E) only
Options :

53622815945. 1
53622815946. 2
53622815947.3
53622815948. 4

Question Number : 12 Question Id : 5362284094 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622815945. 1
53622815946. 2
53622815947. 3
53622815948. 4

Question Number : 13 Question Id : 5362284095 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match Last I with List IT : List I gives sampling methods while List II provides their

description.
List I
(Sampling method)
(A) Stratified sampling
(B) Cluster sampling
(C) Systematic sampling
(D) Dimensional sampling

(II)

(III)

List 1T
(Description)

The units/members are chosen to
represent various areas of
characteristics so defined

Every unit has independent and equal
chance of being picked up

The units are groups and are chosen
intact

The members are selected using the
interval obtained by N/mn - the
N = Aggregate. n = desired
sub-aggregate

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

Options :

(A)-(D). (B)-(IT). (C)«(I1I). (D)-(IV)
(A)-(ITD), (B)-(IV), (C)-(I). (D)-(II)
(A)-(IV), (B)-(I), (C)-(I1I). (D)-(ILI)
(A)-(ID). (B)-(II), (C)(IV), (D)(I)

53622815949. 1
53622815950. 2
53622815951. 3
53622815952. 4

Question Number : 13 Question Id : 5362284095 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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53622815949. 1
53622815950. 2
53622815951.3
53622815952. 4
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Question Number : 14 Question Id : 5362284096 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Every research institute has to enforce research ethics in order to ensure

credibility and meamingfulness of human inquiry

Statement IT : ICT and its use in research has abetted ethical lapses in the conduct of

research wherever it has been put in place.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement Il are correct

(2) Both Statement I and Statement IT are incorreet
(3) Statement I 1s correct but Statement II is incorrect
(4) Statement I 1s incorrect but Statement II 1s correct
Options :

53622815953. 1
53622815954. 2
53622815955.3
53622815956. 4

Question Number : 14 Question Id : 5362284096 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622815953. 1
53622815954. 2
53622815955.3
53622815956. 4

Question Number : 15 Question Id : 5362284097 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1z labelled as Assertion (A) and the other is labelled as
BReason (R) :

Assertion (A):  The purpose of research 1s also to revisit the situations in a bid to ensure
needed amelioration and improvement.

Reason (R) : Action research 1z a format of research which 1z basically directed at
bettering the situations.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1= true



Options :

53622815957 1
53622815958. 2
53622815959. 3
53622815960. 4

Question Number : 15 Question Id : 5362284097 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622815957. 1
53622815958. 2
53622815959. 3
53622815960. 4

Question Number : 16 Question Id : 5362284098 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The 1mpact of classroom communication should be so regulated that it should result in

(1) Exchange of 1deas and information (2) Top-down designer communication
(3) Back room learning (4) Minimum opportunity for feedback
Options :

53622815961. 1
53622815962. 2
53622815963. 3
53622815964. 4

Question Number : 16 Question Id : 5362284098 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

53622815961. 1
53622815962. 2
53622815963. 3
53622815964. 4

Question Number : 17 Question Id : 5362284099 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In a classroom. due to which of the following limitations it 1s easy to talk about something we

do not want to?

(A) Infrastructure

(B) Working memory

(C) Consclous awareness
(D) Yes tags

(E) Mental disagreements

Choose the most appropriate answer from the options given below :

(1) (A. (B). (C) only (2) (B). (C). (D) only
(3) (C). (D). (E) only (4) (A). (D), (E) only
Options :

53622815965. 1
53622815966. 2
53622815967. 3
53622815968. 4

Question Number : 17 Question Id : 5362284099 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) Fa= (A (B). (C) (2) == (B). (O). (D)
(3) Fa4 (C). (D), (E) (4) === (A). (D). (E)

Options :

53622815965. 1
53622815966. 2
53622815967. 3
53622815968. 4

Question Number : 18 Question Id : 5362284100 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(Given below are two statements :

StatementI: A straight forward admission of one’s own hmitations is acceptable in an

academic eco-system.

Statement IT: Sweet corporate talk tends to enmask the weakness of a teacher and makes

him/her popular in the long run.

In the hight of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement I1 are false
(3) Statement I 1s correct but Statement IT is false

(4 Statement T is incorrect but Statement I1 is true

Options :

53622815969. 1
53622815970. 2
53622815971.3
53622815972. 4

Question Number : 18 Question Id : 5362284100 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622815969. 1
53622815970. 2
53622815971.3
53622815972. 4

Question Number : 19 Question Id : 5362284101 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Find out the correct sequence of selectivity stages in mass communication?

{A) Exposure

(B) Retention

(C)  Attitudinal change

(D)  Perception

(E) Attention

Choose the correct answer from the options given below :

(1) (A). (B), (C). (E). (D) (2) (B). (C). (D). (E), (A)
(3} (). (E). (D). (A4). (B) (4) (A (E). (D). (B). (C)
Options :

53622815973. 1
53622815974. 2
53622815975.3
53622815976. 4

Question Number : 19 Question Id : 5362284101 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622815973. 1
53622815974. 2
53622815975.3
53622815976. 4

Question Number : 20 Question Id : 5362284102 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with Last IT ;

(A)

(B)

(C)

(D)

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

Options :

List I
(Activity)

Non-verbal communication

Listening

Empathetic conversation

Stress management through communication

(A)-D. (B)-(II). (C)-(IV). (D)-(1II)
(A)-(ID). (BY-(III)., (C)-(IV). (D)-(I)
(A)-(II). (B)-(IV). (C)-(D), (D)-(IL)
(A)-(IV), (B)-(D). (C)-(IT). (D)-(I1I)

53622815977. 1
53622815978.2
53622815979. 3
53622815980. 4

Last IT
{(Funection)

Reflects confidence in one’s own
self

Occuplies more space of personal

communication
Helps internalise messages

Seeing things from other's
viewpolnt

Question Number : 20 Question Id : 5362284102 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T=1-1 =1 ge1-I1 & gafer il

-1
(TFema )

(A) -t T

(B) &am

(C) weTqia ardie

(D) =9 ZAT Ufaee TEE

FrefefEs faseal 3 9 @& 37 9w -
(1) (A)-(I). (B)-(IT), (C)-(IV). (D)-(IIL)
(2) (A)-(II). (B)-(IIL). (C)-(IV). (D)-(I)
(3)  (A)-IID). (B)-(IV). (C)-(I), (D)-(ID)
4)  (A)-(IV). (B)-(D). (C)-(ID). (D)-(III)

Options :

53622815977. 1
53622815978. 2
53622815979.3
53622815980. 4

=11
(7T )
FAT 7 |
(II) =afFas T 1 s T o 7 |
(IID) == = <=1 ° Her= =6 7 |

(IV) 7ol = Ziehon | g3l w2

Question Number : 21 Question Id : 5362284103 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Six girls A, B, C. D, E and F are standing in a row. Only B is standing between D and F.
A does not stand next to either F or D. C does not stand next to D. Only E stands between A

and C.

(A) Only F stands between B and C
(B) Only C stands between Aand F
(C) D and A occupy extreme ends

(D) Only E stands between F and A

(E) Only B stands between D and F

Choose the most appropriate answer from the options given below :

(1) (A). (B). (C) and (D) only (2) (A), (C) and (E) only
(3) (B). (C) and (D) only (4) (B). (D) and (E) only
Options :

53622815981. 1
53622815982. 2
53622815983.3
53622815984. 4

Question Number : 21 Question Id : 5362284103 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TEASF A B CD.EM Fa i@z | DA FF R A Faa BEdi 2| A Faaai D&
TAT R E I C.DFIE IR G 2| AR CH a0 E@Sl 2 |

(A) B3 C#* &= #ae FEsi 7|

(B) A RF %™ waa C @3l 2|

(C) D ¥R A ufd & g1 B 7 @I 7 |

(D) F 37 A= %99 E@s 7|

(E) D&l F = =49 %34 B@siz|

Jr fo3 ™ et 4 | @@ I g

(1) === (A). (B). (C) #1 (D) (2) Ha= (A), (C) #R(E)
(3)  Fa= (B). (C) 7 (D) (4) =Ha= (B), (D) #7 (E)

Options :

53622815981. 1
53622815982. 2
53622815983. 3
53622815984. 4

Question Number : 22 Question Id : 5362284104 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If «,‘l'lirihn =256, then 4/n is equal to :

—

(1) V2 2 242

(3) 2 4 4

Options :

53622815985. 1
53622815986. 2
53622815987.3
53622815988. 4

Question Number : 22 Question Id : 5362284104 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



2 |/(4)" = 2566, 1 Vn H HH 7 ;

L 2 @ 242
(3) 2 4) 4
Options :

53622815985. 1
53622815986. 2
53622815987.3
53622815988. 4

Question Number : 23 Question Id : 5362284105 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A trader marks up the price of goods he zells by 50% and gives a discount of 20%. Besides

this. he also weighs the goods by 20% less. What 1s the net profit he gets?

(1) 20% (2) 25%
(3) 40% (4) 50%
Options :

53622815989. 1
53622815990. 2
53622815991. 3
53622815992. 4

Question Number : 23 Question Id : 5362284105 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T SR AU R SE WH ATl weae W 50% sAeE dma fommar 2 s 20% #0192 94 2, 5o

ST 98 T T AW 20% FH A 2 | 9 35 A 5g o 2

(1) 20% (Z) 25%
(3) 40% (4 5H0%
Options :

53622815989. 1
53622815990. 2
53622815991.3
53622815992. 4

Question Number : 24 Question Id : 5362284106 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A man walks 400 meters in north direction. took a left turn and walks 600 meters. He again
takes left turn and walks for 400 meters. How far and in which direction he 1z from his

original position?

(1) 400 meters, East (2) 400 meters, West
(3) 600 meters, West (4) 600 meters. South
Options :

53622815993. 1
53622815994. 2
53622815995.3
53622815996. 4

Question Number : 24 Question Id : 5362284106 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T =fad 400 Hizw SR T2 @ Sea 2, 5@ 92 90§34 600 W =med 7 | 97 TR = g9 400

e = 7 | A1 97 At awitaes feufa @ et o o1 e feam g 27

(1) 400 #w=, 73 (2) 400 Hzx, ufr=m
(3) 600 =7, ufvam (4) 600 Hw=7, ZEm
Options :

53622815993. 1
53622815994. 2
53622815995.3
53622815996. 4

Question Number : 25 Question 1d : 5362284107 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A man reaches hiz office 30 minutes late if he walks by %rd of his routine speed. What 1s the

time he usually takes to reach office?

(1) 30 minutes (2) 60 minutes
(3) 90 minutes (4) 45 minutes
Options :

53622815997. 1
53622815998. 2
53622815999. 3
53622816000. 4

Question Number : 25 Question Id : 5362284107 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

U S A1 A = S Z-TaRE = § =] = A 98 w79 e 30 e oo g ugwa 2 | 9

FrATe] U= H BHEA: o THE o 2

(1) 30 fore (2) 60T
(3) 90T (4) 45Tz
Options :

53622815997. 1
53622815998. 2
53622815999. 3
53622816000. 4

Question Number : 26 Question Id : 5362284108 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the sequential order of syllogism in Nyaya philosophy :

(A) Pratigya
(B) Hetu

{(C) Udzaharana
(D) Nigman

(E) Upanaya

Choose the correct answer from the options given below :

(1) (A). (B). D). (E). () (2) (A). (C). (B). (E). (D)
(3) (A). (D). (B). (E). (C) 4) (A).(C), (D). (B). (E)
Options :

53622816001. 1
53622816002. 2
53622816003. 3
53622816004. 4

Question Number : 26 Question Id : 5362284108 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



I T 0 S AT % AT o AT S i

-

(A)  wfasm
®B) =

(C) ==
(D) A
(E) =74

= 25U 0 fawe 9 ¥ ORI g

(1) (A (B). D). (E). (C) (Z) (A, (C). (B). (E). (D)
(3) (A). (D). (B). (E). (C) (4)  (A). (C). (D). (B). (E)

Options :

53622816001. 1
53622816002. 2
53622816003. 3
53622816004. 4

Question Number : 27 Question Id : 5362284109 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hetvabhasa (fallacy) produced in the conclusion due to refutation of Sadhva by Hetu 1s
known as :

(1) Asiddha (2) Savyabhicara
(3) Viruddha (4) Satpratipaksha

Options :

53622816005. 1
53622816006. 2
53622816007. 3
53622816008. 4

Question Number : 27 Question Id : 5362284109 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

#d g AT F @S & SR A | giad Fearar o Hetaiag e w9 "7 S e e

i f

(1) A3 (2) T=IEER
(3) T3 (4) HauiaaE

Options :
53622816005. 1
53622816006. 2



53622816007. 3
53622816008. 4

Question Number : 28 Question Id : 5362284110 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Mateh List T with TList IT :

List I List IT
(A) Enowledge is recollection () Berkeley
(B) Enowledge 1s either analytic or (II) Kant
synthetic
(C) Knowledge 1s synthetic apriori. (IIT) Hume

(D) Enowledge 18 perception and (IV) Plato
perception 1s knowledge

Choose the correct answer from the options given below :

1D (A)-D. (B)-(IV). (C)-(II). (D)D)
@ (AQ-ID). (B)-I). (C)-@). D)-(IV)
3 (A-D). B)-(D. (O)-(I). (D)-(IV)
(4)  (A)-OV). B)-ID). (C)-ID). (D)-[D

Options :

53622816009. 1
53622816010. 2
53622816011. 3
53622816012. 4

Question Number : 28 Question Id : 5362284110 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



-1 1 g 105 gafem i

T TEII
(A) FH T E @O =
(B) T A FEvemaw® E @ mrewens 2 (D) wE
(C) FH =Hfvee Taed 7 (III) #=gm
(D) T =Yg 2 A7 Ay 79 = IV) =z

+r= fag = fawewt 4 ° = = g

@0 @-@. B)-V). (O)-IID,. (D)-(ID)
2) (A)-ID. (B)-I). (C)-(I). (D)-(IV)
(3)  (A)-AID. B)(D. (C)-ID), (D)-(IV)
@ (A)-IV), (B)-IID), (C)-(ID). (D)-@)

Options :

53622816009. 1
53622816010. 2
53622816011. 3
53622816012. 4

Question Number : 29 Question Id : 5362284111 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In Universal Negative Proposition, how are the terms distributed? Choose the correct option
from the following :
(1) Subject 1= distributed. predicate 1s undistributed
(2) Subject 1s undistributed. predicate 1s distributed
(3 Both the terms are distributed
(4) Neither the subject 1s distributed nor the predicate

Options :

53622816013. 1

53622816014. 2

53622816015.3

53622816016. 4

Question Number : 29 Question Id : 5362284111 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

B TR YAt H, 92 # H fata G e 2 ¢ ot 8 8 w56 e gf
(1) 3274 ve faaha = 2, faug 9 sAfadia = 7 |

(2)  32vE 92 AfEAd = 2, fHum ue A w2

(3)  =F vg fagha = F |

(4) I=va n faum #E o o GafE i Ee
Options :



53622816013. 1
53622816014. 2
53622816015. 3
53622816016. 4

Question Number : 30 Question Id : 5362284112 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List T with List IT :

List I Last IT
(Concepts) (Philosophers)
(A) Antinomies of pure reason (Il Leibmiz
(B) Law of contradiction (II) Kant
(C) Clearness and distinctness (III) Amnstotle
(D) Pre-established harmony (IV) Descartes

Choose the correct answer from the options given below :

(1) (A)-(D. (B)-(IV). (C)-(ID). (D)-(IID)
(2) (A)-(ID). (B)-(IID). (C)-(IV), (D)-(D
(3) (A)-(IV). (B)-(ID). (C)-(IID). (D)-(I)
4) (A)-(IID). (B)-(D. (C)-(IV). (D)-(1I)

Options :

53622816017. 1
53622816018. 2
53622816019. 3
53622816020. 4

Question Number : 30 Question Id : 5362284112 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

=11 % g=1-11 § gt Hifae
=11 a1
(FEe ) (i)
(A) faurg o = fagy O =mEEEE
(B) fawramyE =1 Fom an ==
(C) e va TafErear I =4
(D) TE-TFA == IV) =Fd

4 21 ™ fawew § 1 9 I w99 W
(1) (A)-(I). (B)-(IV). (C)-(II). (D)-(11L)
(2) (A)-(IT). (B)-(I1I). (C)-(IV). (D)-(I)
(3) (A)-(IV), (B)-(II), (C)~(I1I). (D)-(T)
@) (A)-ID. (B)-(D. (C)-(IV). (D)-(I)



Options :

53622816017. 1
53622816018. 2
53622816019. 3
53622816020. 4

Question Number : 31 Question Id : 5362284113 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the full form of the abbreviation ISP?
(1) International Software Product
(2) Internet Service Provider
(3 Internet Server Product
(4) Internet Software Provider
Options :
53622816021. 1
53622816022. 2

53622816023. 3
53622816024. 4

Question Number : 31 Question Id : 5362284113 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tttt #ATE vm 0 = W =9 = B v

(1)  SZH7« A9 ST

(2) T OfEm waErEs

(3) ST T UisH
(4) =T TTFEEEE TEnsST

Options :

53622816021. 1
53622816022. 2
53622816023. 3
53622816024. 4

Question Number : 32 Question Id : 5362284114 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What is bit rate?

(1) Number of bits stored in computer
(2) Number of bits per second that can be transmitted over a network
(3) Number of bits per hour stored In a computer over a network
(4) Binary digit converted to hexa decimal number
Options :

53622816025. 1
53622816026. 2
53622816027. 3
53622816028. 4

Question Number : 32 Question Id : 5362284114 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
oz 2w 27
(1) =gz | Heifa a2l 1 g

(3) e g FHE ° Wi 92 | wustHa i w7 A fael i w5 |

(4) U3 Z9meE (FFET SHMS) WA § Al [GHAERl 579 |

Options :

53622816025. 1
53622816026. 2
53622816027. 3
53622816028. 4

Question Number : 33 Question Id : 5362284115 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Methodology for the delivery of voice and multimedia sessions over the internet is called :

(1) TCP/IP (2y UDP
(3) VoIP (4) Chat
Options :

53622816029. 1
53622816030. 2
53622816031. 3
53622816032. 4

Question Number : 33 Question Id : 5362284115 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

()  F = dq/om 2 IS H
(3) = A aE (4) =TEEE
Options :

53622816029. 1
53622816030. 2
53622816031. 3
53622816032. 4

Question Number : 34 Question Id : 5362284116 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s true about the wireless networking?

(A) It 1= easler to expand the network

(B) Data 1s less secured than wired system

(C)  Reliability 13 more than wired

(D) Faster than wired network

Choose the correct answer from the options given below :

(1) (A (B). (D) only (2) (A). (B) only
(3) (B).(C) only 4) (&), (B). (C) only
Options :

53622816033. 1
53622816034. 2
53622816035. 3
53622816036. 4

Question Number : 34 Question Id : 5362284116 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A) AZa =1 TeTid FA1 B 2
(B)  #ATHS AWIE T i AU FE A F
(C)  Awge woned & A fEavamE 7 |

(D)  AIFE A S AT A A

Jr= foa A oo 4 9@ w8 =W g6
(1)  Fa (A). (B) ¥ (D) (9)  FFF (A) 311 (B)

(3) Fa= (B) 37 (O) (4) 9 (A). (B) 51 (C)

Options :

53622816033. 1
53622816034. 2
53622816035. 3
53622816036. 4

Question Number : 35 Question Id : 5362284117 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match Last I with Last I : Last I consists components of computer system and Last II 1s their

examples,
ListI Tast 11
(A) Output Device (I) Operating system
(B) System Software (IT) Printer
(C) Storage Device (IIT) MS-office
(D) Application software IV RAM

Choose the correct answer from the options given below :

1 Q-@D. B)-D, (C)-IV). (D)-(ID
@  (A-IV), B)-(IID), (C)-AD), D)-@
(3 (A)-aD, (B)-D, (O«IV), (D)-(ID
@) (A)-D. (B)-). (C)-(ID). (D)-(IV)

Options :

53622816037. 1
53622816038. 2
53622816039. 3
53622816040. 4

Question Number : 35 Question Id : 5362284117 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



-1 =1 F=-11 § HATed Fifae - g1 w2 famen & 3799 2 31 =009 395 3900 2 |

11 T
&) Friew (srsegz fsamy) O @ =
B) f=s wTRET ) =% (o)
(C) |vsRw 7 (=i fear) (ITT) 8. TH. 7fEs
(D) T AR @V) #AR Uy

1) (A)D. (B)-II). (C)-(IV). (D)-(III)
(2) (A)-(IV). (B)-(III), (C)-(ID. (D)-(I)
(3)  (AID. (B)-@). (C)-IV). (D)-ID
(4) (A)-(IID), (B)-(D). (C)-(ID), (D)-(IV)

Options :

53622816037. 1
53622816038. 2
53622816039. 3
53622816040. 4

Question Number : 36 Question Id : 5362284118 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A multilateral fund for implementation of Montreal Protocol was set up to provide financial
and technical assistance to developing countries. parties to Montreal protocol, whose annual
per capita consumption and production of ozone depleting substances amounted to less than

(1) 0.3 kg (2) 0.DHkg
(3) 1.0 kg (4) 1bHkg
Options :

53622816041. 1
53622816042. 2
53622816043. 3
53622816044. 4

Question Number : 36 Question Id : 5362284118 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A T F HEEE F 0 UF aguaiE F wia e T oar A 355 2ieas Wereie &
i =5fFa @ua AR Seurea e et =@ e e

(1) 0.3 . (2) 0.5 fFm.

(3) 1.0 7. (4) 1.5

Options :

53622816041. 1
53622816042. 2
53622816043. 3
53622816044. 4

Question Number : 37 Question Id : 5362284119 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the Global Warming Potential of a molecule of the following greenhouse gases
(relative to COz2) 1n decreasing order :

(A) Methane

(B) Nitrous Oxide

(C) CFC-12

(D) CFC-11

(E) Sulphur hexafluoride (SFs)

Choose the correct answer from the options given below :
(1) (E) = (D) = (C) = (B) = (4) (2) (C)=(E)=(D)=(B)=>(A)
(3) (D)=(E)=(C)=(B)=(A) (4) (E)=(C)=(D)=(B)=(A)
Options :
53622816045. 1
53622816046. 2

53622816047. 3
53622816048. 4

Question Number : 37 Question Id : 5362284119 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A ¥ Frem T w wm o 3fvew am-gig ana (FEA SE AiEAEs F oIuE) #F o9sd FH 0

AT W
(A) e
(B)  TEZH HTHETSS
(C) = oF I - 12
(D) FHwEHE - 11

(E) ==% z5asans (SFe)

4= 3 = foeat 8 | TE =W 9T

(1) (E)=(D)=(C)=(B) = (&) (2) (C=(E)=D)=B)=A)
(3) D)= (E)=(C)=(B) = A 4) (E)=(C)=(D)=(B)=(4)
Options :

53622816045. 1
53622816046. 2
53622816047. 3
53622816048. 4

Question Number : 38 Question Id : 5362284120 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Sick Building Syndrome (SBS) 1s a condition
(1) When buildings are very old and about to collapse
(2) Of human health due to indoor air pollution
(3) Of fear due to deserted building
(4) Of building devoid of any modern amenities
Options :
53622816049. 1
53622816050. 2

53622816051. 3
53622816052. 4

Question Number : 38 Question Id : 5362284120 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



for fafeen fagm (vm & va) Fenfea 4 3 == o i 27
(1) =9 397 =g THT 7 317 = e = 2

(2) TSN 91g UgEW o FEV GG e R |

(3)  uitegad =oWA & wEW 99 A Rt

(4) g s | 1 sAwg $ el

Options :

53622816049. 1
53622816050. 2
53622816051. 3
53622816052. 4

Question Number : 39 Question Id : 5362284121 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(Given below are two statements :

Statement I : Dioxins and furans are highly toxic substances produced mainly during
ineineration of municipal solid waste. hazardous and medical wastes.

Statement IT : Dioxins and furans play crucial role in photochemical smog formation.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement II are false
(3) Statement I is correct but Statement I 1s false

(4) Statement I 1s incorrect but Statement II 1s true

Options :

53622816053. 1
53622816054. 2
53622816055. 3
53622816056. 4

Question Number : 39 Question Id : 5362284121 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



F5 ([):  SEATHEA 3 T SAeted faura e 2 gieia: TR % 30| e, G HR
Uiews w5 W % 20 300 w7 F

Fo (1) : SEATFEA A7 FEH TREREENT qH-FHET & FEm § geege i [eE 7 |

SR FUAT | AT § AR e 3§ T I =
(1) o I3 3 o7 7 |

(2 w9 1 ER [ =F 7o 7 |

(3) w14 g %y L 7ed 7 |

(4) a1 3w F g e 57 2

Options :

53622816053. 1
53622816054. 2
53622816055. 3
53622816056. 4

Question Number : 40 Question Id : 5362284122 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A dish =olar cooker

(A) has reflecting material of anodized aluminium sheet.

(B) has a reflectivity of less than 50%

(C) needs to track the sun to deliver power of about 0.6 kW.

(D)  uses a parabolic dish to concentrate the incident solar radiation

(E) can have the bottom veszel temperature over 1000°C.

Choose the correct answer from the options given below :
(1) (A). (C). (D) and (E) only (2) (A (C) and (D) only

(3 (A). (B). (C)y and (E) only (4) (A). (C) and (E) only

Options :
53622816057. 1
53622816058. 2



53622816059. 3
53622816060. 4

Question Number : 40 Question Id : 5362284122 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(A) TAEETS USgEHEE e FT WIEaE AT S

(B) 1 wrEawa 50% T =9 7l

(C) = 0.6 Tetranz famm seoed e & form o = sifiyga = & |
O R e iR e S R R T i

(E) =1 71 9% =7 &od 1 a9 1000°C 5 919 7 E

Jr 22 T et 0 @ wE e g

(1)  F9 (A (©). (D) 3% (E) (2) FAF (A), (C) #T (D)

(3) == (A). (B). (C) =11 (E) (4) === (A). (C) =R (E)
Options :

53622816057. 1
53622816058. 2
53622816059. 3
53622816060. 4

Question Number : 41 Question Id : 5362284123 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The prominent women scholars reported during the Vedic period are :
(A) Gargl

(B) Maitren1

(C) Sanghamitra

(D) Viswambhara

(E) Apala

Choose the correct answer from the options given below :

(1) (A, (B). (C). (D) only (2) (B). (C). (D). (E) only
(3) (A (B). (D), (E) only (4) (A (C). (D). (E) only
Options :

53622816061. 1
53622816062. 2
53622816063. 3
53622816064. 4

Question Number : 41 Question Id : 5362284123 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A e 1 wEAE fagdt Atee 7

(A)

(B)  H=E
(C) =i
(D) TEvEEET

(E) T

Hr= 2 T fohedt 3 @ W S 9

(1) %=« (A). (B). (C), (D) (2) *aa (B). (C). (D). (E)

(3) =A@ (A). (B). D). (E) (4) FF= (A), (C), (D), (E)
Options :

53622816061. 1
53622816062. 2
53622816063. 3
53622816064. 4



Question Number : 42 Question Id : 5362284124 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which 1s the highest body to advise central and state governments on education?

(1) UGC (2) CABE
(3 NSDA (4) NIEPA
Options :

53622816065. 1
53622816066. 2
53622816067. 3
53622816068. 4

Question Number : 42 Question Id : 5362284124 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

foren % TEg W g TOEE ST 59 AUEET i WEE 3 9T W@ e - w2

(1) 3FTH @) iz
(3) T UH B T (4) WIEINT

Options :

53622816065. 1
53622816066. 2
53622816067. 3
53622816068. 4

Question Number : 43 Question Id : 5362284125 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following form part of criteria for assessment of higher education institutions as

laid down by National Assessment and Accreditation Council (NAAC)?

(A) Curricular aspects

(B) Teaching-learning and Evaluation

(C) Continuous improvement in attainment of outcomes
(D)  Research. innovation and extension

(E) Facilities and Technical support

Choose the correct answer from the options given below :

(1) (A (B). (C) only (2) (A). (B). (D) only
(3)  (C). (D). (E) only (49) (D). (E). (A) only
Options :

53622816069. 1
53622816070. 2
53622816071. 3
53622816072. 4

Question Number : 43 Question Id : 5362284125 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



I foreror HeuneT % geaTeA § Eed 0 g geAsA o UeEE Uiy (9 T U Hi) g g i

HHEST 1 A= feiigd § H -5 97 B 7

(A)  wEE=E GeH 9Ee

(B)  TEw-sfom 3 g

(C)  witomef =1 =1t % 4 Tad gaw

(D)  FEETH, FEEE A

Jr o3 T faweT 9 ® wE I 96

(1) === (A). (B). (C) (2) I (A), (B). (D)

(3) == (C). (D). (B) (4) F== (D), (E). (A)
Options :

53622816069. 1
53622816070. 2
53622816071. 3
53622816072. 4

Question Number : 44 Question Id : 5362284126 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the context of skill based/vocational education, NSQF competency level 8 1s equivalent to

(1) Undergraduate (Hons.) degree (2)  Masters (Post-graduate) degree
(3) Advanced Diploma (4) Doctorate degree

Options :

53622816073. 1
53622816074. 2
53622816075.3
53622816076. 4

Question Number : 44 Question Id : 5362284126 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



ST ATATA ST {9 % G2 | U UF Y UF GHa) T 8 Mg § ° e aued 7 7

(1)  Hawms () f= (2) T T
(3)  UsaEs fewm (4) srEznz =l
Options :

53622816073. 1
53622816074. 2
53622816075.3
53622816076. 4

Question Number : 45 Question Id : 5362284127 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: Board of studies 1s the basic unit of the academie system of the University.

Statement IT : The responsibilities of the Board of studies include planmng, coordination
and review of the academic programmes of university.

In the hight of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are falze
(3) Statement I is correct but Statement IT 1s false

(4) Statement I 1s incorrect but Statement II is true

Options :

53622816077. 1
53622816078. 2
53622816079. 3
53622816080. 4

Question Number : 45 Question Id : 5362284127 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622816077. 1
53622816078. 2
53622816079. 3
53622816080. 4

Sub-Section Number : 3
Sub-Section Id : 536228163
Question Shuffling Allowed : Yes

Question Id : 5362284128 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the passage and answer questions 46 to 50.

Birds are under severe stress and strain because of human activities and many of them are
facing a threat to their survival. The threats come in various ways. such as habitat loss and
damage to ecosystems. agricultural and industrmal activities and issues like pesticide
poisonming and effluent discharges. urbanization and to some extent, hunting and pet trade. A
study has noted both long-term and recently recorded annual losses. Some species which
were categorised as being of “least concern™ by the International Union for Conservation of
Nature (IUCN) were found to be seriously endangered. There are reasons for “high concern”
over 52% of the species which figured in the study. Some geographical areas present greater
threats to them than others. Some species which are found in the Western and the Eastern
Ghats are fast dwindling. The Western Ghats. a great home for many birds. have seen the
numbers of some of them dwindle as much as 75% 1n the last two decades. The ecological
changes 1n the Teral grasslands in Northern India have adversely affected birds endemic to
them and many migratory species.

Amidst the bleak news. one bright sport 1s about the sparrows which had disappeared from
cities but are now found to be stable in numbers in other areas. That shows some resilience
but the conditions that helped them to survive may not be available to other birds. Protection
of habitats and other steps to save the birds should get high priority. We are vet to realise
that the disappearance of birds from nature or the diminution of their numbers will make
life difficult for us. Nature and hife-forms that it supports are crucially dependent on each
other and the link should not be snapped.

Sub questions



Question Number : 46 Question Id : 5362284129 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The survival of birds in the ecosystem 1s under threat because of

(1) conflict with nature (2) 1ncreased population
(3) growing international concerns (4) fast rate of developmental activities
Options :

53622816081. 1
53622816082. 2
53622816083. 3
53622816084. 4

Question Number : 47 Question Id : 5362284130 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

Most of species have fallen into the category of being

(1) highly endangered (2) of least concern
(3) of moderate concern {(4) useful for survival of man
Options :

53622816085. 1
53622816086. 2
53622816087. 3
53622816088. 4

Question Number : 48 Question Id : 5362284131 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The fast paced dwindling of ecertain unique species of birds can be seen
(1) all over the country
(2) in some sensitive biological hotspots 1n the country
(3) in specific geographical areas
(4) in the grasslands of the Terai region
Options :
53622816089. 1
53622816090. 2
53622816091. 3
53622816092. 4

Question Number : 49 Question 1d : 5362284132 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What 1s one of the positive signs in view of these concerns?

(1) migration of birds to grasslands

(2) chimate change for better

(3) Increase in protective habitats

(4) stability of survival in areas other than urban
Options :

53622816093. 1
53622816094. 2
53622816095. 3
53622816096. 4

Question Number : 50 Question Id : 5362284133 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The message flowing from the passage is that

(1) man 1s manipulating nature
(2) it 1s time to take international reports on bird extinction seriously
(3) all life forms on the planet are inter-dependent

(4) resilent conditions have not improved the future of birds.

Options :

53622816097. 1
53622816098. 2
53622816099. 3
53622816100. 4

Question Id : 5362284128 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 5362284129 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TRl | afEET = Al e e wa H B 7

(1) W?Wﬂﬂﬂﬁ?m (2) wHEE Iig
(3) iR T A % A (4) o w1 A

Options :

53622816081. 1
53622816082. 2
53622816083. 3
53622816084. 4

Question Number : 47 Question Id : 5362284130 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ATerTST T TR Aot F s e 27

(1) =179 T=Fzmae 4oft o (@) =9 faar oA
(3)  @mEEE = F oA | (4) ‘HT= % A % e swrf’ Fi oo |
Options :

53622816085. 1
53622816086. 2
53622816087. 3
53622816088. 4

Question Number : 48 Question 1d : 5362284131 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

F Algdra TGl & w6 @ea e e woAs | A R
1 EITH

(2) =9 F T3 T 79 EEEAT a9 &6 A

(3)  Tafore wimifes &= |

(4) T ET

Options :

53622816089. 1

53622816090. 2

53622816091. 3
53622816092. 4

Question Number : 49 Question Id : 5362284132 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

w7 Tl =1 219 5v feitea 0§ 997 UF TR S 7 7
(1) =™ % D2 O e #1 99"

(2)  =Ee F T weErg o

(3)  TeAwmens A Tye | gig

(4) T T AT DTS ST AT F ATeea A e

Options :

53622816093. 1
53622816094. 2
53622816095. 3
53622816096. 4

Question Number : 50 Question Id : 5362284133 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
(1) TIATHFAEF-FH AR
(2)  iEE ¥ faga B9 % A § SangE foet w sl ¥ few e a2
(@) e w e S A g w e R |

Options :

53622816097. 1
53622816098. 2
53622816099. 3
53622816100. 4

PART II Sociology
Section Id : 53622856



Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 536228164
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5362284134 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Concept of ‘runaway world’ 1s used by

(1) Anthony Giddens (2) Pierre Bourdieu
(3) Jurgen Habermas (4) Manuel Castells
Options :

53622816101. 1
53622816102. 2
53622816103.3
53622816104. 4

Question Number : 51 Question Id : 5362284134 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

W I ... g7 FATERT T e T a7

(1) v frgm (2) TER AT
(3) T FewH (4) A FEen
Options :

53622816101. 1
53622816102. 2
53622816103. 3
53622816104. 4

Question Number : 52 Question Id : 5362284135 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



In modern Industrialized society the status of women in industry

(1) Has considerately gone down (2) Has gradually risen
(3) Has remained unchanged (4) Has not been defined
Options :

53622816105. 1
53622816106. 2
53622816107.3
53622816108. 4

Question Number : 52 Question Id : 5362284135 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Sl iR ware J 3aE 8 afEens $ioufeaf

(1) Toom =0 5 = = 7| (2) S TR I
(3) wfatad 2 2 (4) uraTEa TE = e B
Options :

53622816105. 1
53622816106. 2
53622816107.3
53622816108. 4

Question Number : 53 Question Id : 5362284136 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who 1s of the view that incest taboo enables relationship with wider society?

(1) C. Levi-Strauss (2) H. Spencer
(3) K. Gough (4) E. Westermarck
Options :

53622816109. 1
53622816110. 2
53622816111.3
53622816112. 4

Question Number : 53 Question Id : 5362284136 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T foam & & srerme ey =39 o979 & 919 Ty 99 § 98T Bl B 7

(1)  #.oam =E (2) vE T

(3) =+ TE (4) FETHTE

anl

Options :

53622816109. 1
53622816110. 2
53622816111.3
53622816112. 4

Question Number : 54 Question 1d : 5362284137 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Goffman when passers by glance at one another quickly and then look away
again, 1t 1s called

(1) Disengagement (2) Interaction

(3) Symbolic interaction (4) Civil inattention

Options :

53622816113. 1
53622816114. 2
53622816115. 3
53622816116. 4

Question Number : 54 Question Id : 5362284137 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Elnil:

(1) =7 7 7@ (2) i T
(3)  TATRES A9 T (4)  FrteE TE e
Options :

53622816113. 1
53622816114. 2
53622816115.3
53622816116. 4

Question Number : 55 Question Id : 5362284138 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who 1s regarded as the leading scholar of ‘symbolic anthropology’?

(1) Chifford Geertz (2) Alfred Schutz
(3) G.H. Mead (4) Karl Mannheim
Options :

53622816117. 1
53622816118. 2
53622816119. 3
53622816120. 4

Question Number : 55 Question Id : 5362284138 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

P i 3 e 5 o Frgw 5 9 o o 27

(1) s s (2) ¥FEE A
(3) Sima. Hs 4) T B
Options :

53622816117. 1
53622816118. 2
53622816119. 3
53622816120. 4

Question Number : 56 Question Id : 5362284139 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Mead delineates three stages in which the concept of self arises and developes; the stage of
Imitative acts. the play stage and the

(1) Skill stage (2) Adult stage
(3) (Game stage (4) Infant stage
Options :

53622816121. 1
53622816122.2
53622816123. 3
53622816124. 4

Question Number : 56 Question Id : 5362284139 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



il T ShiST STEEUT o

(1) o 1 (2) FTF I
(3) T AT (4) forg s

Options :

53622816121. 1
53622816122. 2
53622816123.3
53622816124. 4

Question Number : 57 Question Id : 5362284140 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The primary philosophical assumption in ‘null hypothesis’ in social science research is

(1) Technicality (2) Specification
(3) Falsifiability (4 Distinctiveness

Options :

53622816125. 1
53622816126. 2
53622816127.3
53622816128. 4

Question Number : 57 Question Id : 5362284140 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

:IC q '—! .-' "L r!'-]-: - ":-ITH ﬁ f..] T DE q j :{ -'IJ :E:i ﬁ ,JJ-..P&:l. =+ rf “_ripqif-' ‘1_':'[?:1 J‘U 3F.r
(1) ERien (2) Tafaes
(3) = EH AT (4) i

Options :

53622816125. 1
53622816126. 2
53622816127.3
53622816128. 4

Question Number : 58 Question 1d : 5362284141 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The transformation of time in. modern society in the form of ‘timelessness’ was emphasized

by which scholar?

(1) Marshall McLuhan (2) Dawnid Harvey
(3) Manuel Castells (4 Anthony Giddens
Options :

53622816129. 1
53622816130. 2
53622816131.3
53622816132. 4

Question Number : 58 Question 1d : 5362284141 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ST TR H FIAE =Y ° 7 F = W g owm e
(1) oW dFaeH (2) sz

(3) "I FEH (4) v frgm
Options :

53622816129. 1
53622816130. 2
53622816131.3
53622816132. 4

Question Number : 59 Question Id : 5362284142 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to R.K. Merton Manifest functions are:

(1) Partially intended and recognized

(2) Intended and recognized

(3) Not intended and not recognized

(4) Partially intended and partially recognized

Options :

53622816133. 1
53622816134. 2
53622816135.3
53622816136. 4

Question Number : 59 Question Id : 5362284142 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622816133. 1
53622816134. 2
53622816135.3
53622816136. 4

Question Number : 60 Question Id : 5362284143 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Malinowski's funetionalism 1s often termed as

(1) Individualistic functionalism (2) Collective functionalism

(3) Fundamental functionalism (4) Psychological functionalism

Options :

53622816137. 1
53622816138. 2
53622816139.3
53622816140. 4

Question Number : 60 Question Id : 5362284143 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

AfeTT=hl o TeREATE i gRdT HRE = § qeia R S A

(1)  =girard wEar (2) TMfEF TEEARE

(3)  HoYd THEAR (4) TAETIE TEEEE
Options :

53622816137. 1
53622816138. 2
53622816139.3
53622816140. 4

Question Number : 61 Question Id : 5362284144 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Radcliffe-Brown did not distinguish between social structure and

(1) Social system (2) Social cognition
(3) Social relations (4) Social conflict
Options :

53622816141. 1
53622816142. 2
53622816143. 3
53622816144. 4

Question Number : 61 Question 1d : 5362284144 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TEfFAF—aTe 7 TEA W ——— § W39 A

(1)  THEIAF = (2) TEITSF

(3)  =HIEE T (4) =mETTEE Ta
Options :

53622816141. 1
53622816142. 2
53622816143.3
53622816144. 4

Question Number : 62 Question Id : 5362284145 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Yellow revolution 1s related to

(1) Oilseed (2) Milk
(3) Telengana (4) Tiger conservation
Options :

53622816145. 1
53622816146. 2
53622816147.3
53622816148. 4

Question Number : 62 Question 1d : 5362284145 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(1) feTe (2) =4
(3)  @EEm (4) =T HEm
Options :

53622816145. 1
53622816146. 2
53622816147. 3
53622816148. 4

Question Number : 63 Question 1d : 5362284146 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which one of the following 1s not a characteristic of census town?

(1) A mimimum population of 5000
(2) Atleast 75% of the male working population engaged in Non-agricultural occupations
(3) Presence of municipality / corporation cantonment board or notified town
(4) A density of population at least 400 persons per sq. km.
Options :
53622816149. 1
53622816150. 2

53622816151.3
53622816152. 4

Question Number : 63 Question Id : 5362284146 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fatetaa 9 g #9 FoE Fr i e 965 2 7
(1) =99 5000 F1 =7 == =
(2) FHEHFH 75% 9 W Y =o9F § HH W E A
(3) e /M, Sl A = At TR A e a
(4)  SHEE g9e FH O HH 400 =3t wid 91 AL 7
Options :
53622816149. 1
53622816150. 2

53622816151. 3
53622816152. 4

Question Number : 64 Question Id : 5362284147 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

Which one of the following is least urbanized state in India?

(1) Bihar (2) Himachal Pradesh
(3) Assam (4) Odisha
Options :

53622816153. 1
53622816154. 2
53622816155.3
53622816156. 4

Question Number : 64 Question 1d : 5362284147 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) Temr (2) Teo== w=m
(3) =W (4) I
Options :

53622816153. 1
53622816154. 2
53622816155.3
53622816156. 4

Question Number : 65 Question Id : 5362284148 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

During which decade increase in total urban population was more than total increase in
rural population of India?

(1) 1991-2001 (2) 2001-2011
(3) 1971-1981 (4) 1951-1991
Options :

53622816157. 1
53622816158. 2
53622816159. 3
53622816160. 4

Question Number : 65 Question Id : 5362284148 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



form 2o d wma i adior s fi Fe afg 7 vl SEen B e a9fg gt ae

(1) 1991 — 2001 (£) 2001 —2011
(3)  1971-1981 (4) 1981 — 199]
Options :

53622816157. 1
53622816158. 2
53622816159. 3
53622816160. 4

Question Number : 66 Question Id : 5362284149 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who has given a graphic account of the miserable situation of unmarried individuals in the
most primitive socleties?

(1) C. Lewvi- Strauss (2) G.P. Murdock
(3) Kingsley Davis (4) ER.H. Lowie
Options :

53622816161. 1
53622816162. 2
53622816163. 3
53622816164. 4

Question Number : 66 Question 1d : 5362284149 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FeAtAtEs 8 | e aaifas wfeg Jars § Afaaiieg =g i 274 wafa F1 9o 994 e 20

(1) Hed-=m (2) S we
(3) e Sfam (4) =T =

Options :

53622816161. 1
53622816162. 2
53622816163. 3
53622816164. 4

Question Number : 67 Question Id : 5362284150 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who said. “social structure as the complex of the principal groups and institutions which
constitute societies™?

(1) Emile Dukheim (2) Radcliffe-Brown
(3) Ravmond Firth (4) M.Ginsberg
Options :

53622816165. 1
53622816166. 2
53622816167.3
53622816168. 4

Question Number : 67 Question Id : 5362284150 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T =T, “mTT R HET T TA 3 ST A 2 S BTl A e Y
(1)  ©AES rEEd (2) TSHFAE-—STA
(3) Tz wd (4) vm. T

Options :

53622816165. 1
53622816166. 2
53622816167.3
53622816168. 4

Question Number : 68 Question Id : 5362284151 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The study of people using participant observation and face to face interviewing 1s called

(1) Phenomenology (2) Social mapping
(3) Ethnography (4) Epidemiology
Options :

53622816169. 1
53622816170. 2
53622816171.3
53622816172. 4

Question Number : 68 Question Id : 5362284151 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T=UTT (9o S1%ET TSR 1 9907 9 46 F U9 37999 &1 FE 9141 R

(1) AT faaE (2) TOEITAF A=
(3) i 4) FEm faEe
Options :

53622816169. 1
53622816170. 2
53622816171.3
53622816172. 4

Question Number : 69 Question Id : 5362284152 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Durkheim, Indirect Experiment 1s

(1) Historical method (2) Laboratory method
(3) Partial method (4) Comparative method
Options :

53622816173. 1
53622816174.2
53622816175.3
53622816176. 4

Question Number : 69 Question Id : 5362284152 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

sl

(1) =i &l (2) e
(3) AT Aty (4) ToATaE =g
Options :

53622816173. 1
53622816174.2
53622816175.3
53622816176. 4

Question Number : 70 Question Id : 5362284153 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



Who used the “historical approach’ in his sociological analysis?

(1) A.R. Radchiffe - Brown (2) C. Wright Mills
(3) E. Durkheim (4) M. Ginsberg
Options :

53622816177. 1
53622816178. 2
53622816179.3
53622816180. 4

Question Number : 70 Question Id : 5362284153 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

oA w1 Tars T e § ofaaias s (femfee woe) w1 v e 2
(1) =W, isiFs g (2) #HiaEz faew
(38) <. 3 @) . T

Options :

53622816177. 1
53622816178. 2
53622816179.3
53622816180. 4

Question Number : 71 Question Id : 5362284154 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who used reflexive critique in his engagement with Kantian philosophy?

(1) Marx (2) Engels
(3) Hegel (4) Weber
Options :

53622816181. 1
53622816182. 2
53622816183.3
53622816184. 4

Question Number : 71 Question Id : 5362284154 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



1A F =9F & T2Y ° [ HEaEE e #5 v

(1) "= (2) UseH
(3) Fr= 4) =
Options :

53622816181. 1
53622816182. 2
53622816183.3
53622816184. 4

Question Number : 72 Question Id : 5362284155 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who has systematically undertaken the influence of politics on science in his study of

soclology of secience?

(1) Emile Durkheim (2y AR. Radeliffe-Brown
(3) E.K. Merton (4) T.B. Bottomore
Options :

53622816185. 1
53622816186. 2
53622816187.3
53622816188. 4

Question Number : 72 Question Id : 5362284155 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o = =9rE T F 90 S A e T W e o9 % e o gerateed = 9 e R e

(1)  ©A=s e (2) UHAR. ISEEE-aEA
(3) =, HeA (@) FiEl. "EEn
Options :

53622816185. 1
53622816186. 2
53622816187.3
53622816188. 4

Question Number : 73 Question Id : 5362284156 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who was the first to use the word “falsifiability” in the context of social science?

(1) Thomas Kuhn (2) George Ritzer
(3) William J. Goode (4) Karl Popper
Options :

53622816189. 1
53622816190. 2
53622816191.3
53622816192. 4

Question Number : 73 Question Id : 5362284156 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(L) = T @ =T few
(3) faferm = 2 (4) S TR
Options :

53622816189. 1
53622816190. 2
53622816191.3
53622816192. 4

Question Number : 74 Question Id : 5362284157 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hermenutic project in debates 1s related to realism and

(1) Pro-realism (2) Anti-realism
(3) Pre-realism (4) Absolute realism
Options :

53622816193. 1
53622816194. 2
53622816195.3
53622816196. 4

Question Number : 74 Question 1d : 5362284157 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



aE-Taame 4 9y fasm gfms gurEs i o= frog gatha 27

(1)  TNIEE-Ta (2) TeHETE-TaTE
(3)  H-TFWIEE (4) =Y FUTdETE
Options :

53622816193. 1
53622816194. 2
53622816195. 3
53622816196. 4

Question Number : 75 Question Id : 5362284158 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which term was used by Kuhn to state that sclence at any given time as being dominated by
a specific

(1) Paradigm {2y Model
(3) Approach (4) Theory
Options :

53622816197. 1
53622816198. 2
53622816199. 3
53622816200. 4

Question Number : 75 Question Id : 5362284158 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FEA A TFE T2 F g0 WA T et o 53 ™ w9 famem w0 s ey vwe v w

(1)  wfeEmE (Trsem) (2) A
(5) FUTTH (4) Tagra
Options :

53622816197. 1
53622816198. 2
53622816199. 3
53622816200. 4

Question Number : 76 Question Id : 5362284159 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The Doctoral thesis of Dr. Ambedkar is entitled as:

(1) Ancient Indian Commerce
(2) State and minorities: Annhilation of caste
(3) Commercial Relations of India

(4) The problem of Rupee: Its origin and its solution

Options :

53622816201. 1
53622816202. 2
53622816203. 3
53622816204. 4

Question Number : 76 Question Id : 5362284159 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

=7, FETE F Sig2ic Iy UeY W A6E 2

(1)  ofwmEe st =

(2)  T27 US U Ul SATF e

(3) =i fewg w1 stea

(4) = e ATE w91 T2E AN U 394 geEE
Options :
53622816201. 1
53622816202. 2

53622816203.3
53622816204. 4

Question Number : 77 Question Id : 5362284160 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Among the following which book 1s not written by M.IN. Srinivas?

(1) India’s Changing Villages (2) India’s Villages
(3) Social Change in modern India (4) The Remembered Village
Options :

53622816205. 1
53622816206. 2
53622816207. 3
53622816208. 4

Question Number : 77 Question Id : 5362284160 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fmferiEa 4 9 = = waw t.uE, A gen T4 ot R

(1)  sfems =t et (@) =fere e
(3 = = A s @ = fo=E faes

Options :

53622816205. 1
53622816206. 2
53622816207.3
53622816208. 4

Question Number : 78 Question Id : 5362284161 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Who =said that ‘tribals should be assimilated into Hindu caste?

(1) Verrier Elwin (2) G.S. Ghurye
(3) Surajit Sinha (4) N.EKE. Bose

Options :

53622816209. 1
53622816210. 2
53622816211. 3
53622816212. 4

Question Number : 78 Question Id : 5362284161 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e 77 e o1 T anfeantaat 1 femg feal 5 shesmas e s =nfee ?

(1) @R ofea @ hoE o
(3) =W (4) TF ==
Options :

53622816209. 1
53622816210. 2
53622816211. 3
53622816212. 4

Question Number : 79 Question Id : 5362284162 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who 1s the author of Yuganta: The End of an Epoch™?

(1) David G. Mandelbaum (2) G.5. Ghurye
(3) [rawati Karve (4) Leela Dube
Options :

53622816213. 1
53622816214. 2
53622816215.3
53622816216. 4

Question Number : 79 Question Id : 5362284162 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1)  sfas . aeeEE (2) fE o
(3)  =(EdA #A (4) <fen o
Options :

53622816213. 1
53622816214. 2
53622816215.3
53622816216. 4

Question Number : 80 Question Id : 5362284163 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who was the first one to use case materials in his comparative studies of different cultures?

(1) William Healey (2) Fredrick Leplay
(3) Herbert Spencer (4) August Comte
Options :

53622816217. 1
53622816218. 2
53622816219. 3
53622816220. 4

Question Number : 80 Question Id : 5362284163 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fim—fiam Tegfaal & 3109 gorTors @1aaE | TR HAT9T =atee T w5 TEr e

(1) fafeaw #= (2) FEfE ol
(3)  ETEC TE (4) #AEE F
Options :

53622816217. 1
53622816218. 2
53622816219.3
53622816220. 4

Question Number : 81 Question Id : 5362284164 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Sample which fulfills the requirements of efficiency representativeness. reliability and
flexability 1s called :

(1) Stratified sample (2) Optimum sample
(3) Accidental sample (4) Cluster sample
Options :

53622816221. 1
53622816222.2
53622816223. 3
53622816224. 4

Question Number : 81 Question Id : 5362284164 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1)  wata gfazel (2) 4% ula=a
(3)  ATHEHE AR (4) =R (o) ofgew
Options :

53622816221. 1
53622816222. 2
53622816223.3
53622816224. 4

Question Number : 82 Question Id : 5362284165 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



De-peasantization essentially means :

(1) the Shrinking size of peasant’s practices or small producers from the land
(2) the condition in which a person or community takes up corporate farming
(3) the condition in which a person changes his occcupation and marriage pattern
(4) the condition in which a person becomes millionaire
Options :

53622816225. 1
53622816226. 2
53622816227.3
53622816228. 4

Question Number : 82 Question Id : 5362284165 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AFH A AL F

(1) =i = U9 41 Y0 F o SIH F A0 H Hpe

(2) vl fufa faow = = 9 agEE A @ = w

(3)  UH et Tou =+ =aih WUH =9gE™ X 99w ugid # 9iEdq ian 7

(4  mEr foufs Tyae #E =t Ot s =

Options :

53622816225. 1
53622816226. 2
53622816227.3
53622816228. 4

Question Number : 83 Question Id : 5362284166 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who from among the following does see the relationship between the various strata in a
stratified society as one of cooperation and interdependence?

(1) Marxists (2) Functionalists
(3) Pluralists (4) Interactionists
Options :

53622816229. 1
53622816230. 2
53622816231.3
53622816232. 4

Question Number : 83 Question Id : 5362284166 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

TEADT T S YT o =9 ° (Aefoiigd § o FH g 99T § A w60+ o9 99y S agd 27

(1)  mrar (2) TEEETED
(3) GEEIE! (4) ¥ TFEEE
Options :

53622816229. 1
53622816230. 2
53622816231.3
53622816232. 4

Question Number : 84 Question Id : 5362284167 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following incidents prompted Vinobha Bhave to initiate the Bhudan

Movement in India?

(1) Nalgonda Incident (2) Srikakulam Incident
(3) Naxalbari Incident (4) Madhubani Incident
Options :

53622816233. 1
53622816234. 2
53622816235.3
53622816236. 4

Question Number : 84 Question Id : 5362284167 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TAA § S TS 9% A % T A 9w = § @ e w1 ufw e

(1)  F7=isT g2 (2) drFEeE T
(3)  THEerarEt g (4) T T
Options :

53622816233. 1
53622816234. 2
53622816235.3
53622816236. 4

Question Number : 85 Question Id : 5362284168 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who among the following started the self-respect movement in Tamilnadu?

(1) E.V. Ramaswamy Naicker (2) dJyotiba Rao Phule
(3) Narayana Guru (4) Sr Guruj Golwalkar
Options :

53622816237. 1
53622816238. 2
53622816239.3
53622816240. 4

Question Number : 85 Question Id : 5362284168 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tretferiaa 5 @ afusis 9 e EITaaE AEe i I 7

(1) 4. 7= A (2) AT

(3) AR TH @) i Tl T
Options :

53622816237.1
53622816238. 2
53622816239.3
53622816240. 4

Question Number : 86 Question Id : 5362284169 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following factors 1s negatively correlated with modermization?

(1) Achievement motivation (2) Cosmopolitanism
(3) Individualism (4) Religiosity
Options :

53622816241. 1
53622816242. 2
53622816243.3
53622816244. 4

Question Number : 86 Question 1d : 5362284169 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



AT % WY TEEeAT =Y H W ° H i 6 aed Feadiad 2 7

(1)  3ueifes safammon (2 favaae
(3) =R (4) ariEwa
Options :

53622816241. 1
53622816242. 2
53622816243.3
53622816244. 4

Question Number : 87 Question Id : 5362284170 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which state Champaran Satvagraha movement was initiated?

(1) Odisha (2) Madhya Pradesh
(3 Uttar Pradesh (4) Bihar
Options :

53622816245. 1
53622816246. 2
53622816247.3
53622816248. 4

Question Number : 87 Question Id : 5362284170 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T8 59 A TUNY HeAwE AR I A T

(1) 3= (2) =T
(3) I WEW (4) faEm
Options :

53622816245. 1
53622816246. 2
53622816247.3
53622816248. 4

Question Number : 88 Question Id : 5362284171 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who has used the term "Serendipity’ in soclological research?

(1) R.K. Merton (2)  J. Galtung
(3) Karl Popper (4) C. Selltiz
Options :

53622816249. 1
53622816250. 2
53622816251.3
53622816252. 4

Question Number : 88 Question Id : 5362284171 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

) (o e

TS AT WY H AR EEEAT (SRl ome e e e e e

(1) 0% 7oA (2)  F. TR
(3) e 9w (4) Hi. TeArE
Options :

53622816249. 1
53622816250. 2
53622816251.3
53622816252. 4

Question Number : 89 Question Id : 5362284172 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Cultures of Relatedness’ by Jannet Carsten is a study of

(1) Lankawi Islanders (2) Coorgs
(3) Nayars (4 Bhils
Options :

53622816253. 1
53622816254. 2
53622816255.3
53622816256. 4

Question Number : 89 Question Id : 5362284172 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



52 A EA1 “HEEl il SRR —— ] 3ERET

(1) = s (2) T #
(3) AFEE F (4) H=
Options :

53622816253. 1
53622816254. 2
53622816255. 3
53622816256. 4

Question Number : 90 Question Id : 5362284173 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The practice of tekronymy 1s found among

(1) Oraons (2) Khasis
(3) Kaders {4) Santhals
Options :

53622816257. 1
53622816258. 2
53622816259. 3
53622816260. 4

Question Number : 90 Question Id : 5362284173 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A (2 71 T F 9 =EEn FetatEa 3 o a2

(1)  FEEH (2) @
(3) HIEEHH (4) HaE§
Options :

53622816257. 1
53622816258. 2
53622816259. 3
53622816260. 4

Question Number : 91 Question Id : 5362284174 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Juvenile sex ratio in India was noticed as a serendipity in Indian census analysis, when

A, Literacy rate was redefined
B. Sex ratio by age was analysed
C. Sex ratio of widows was analysed

D. All the above

Choose the most appropriate answer from the options given below :

(1) A and B only (2) BandC only
(3) C and D only {(4) BandD only
Options :

53622816261. 1
53622816262. 2
53622816263.3
53622816264. 4

Question Number : 91 Question 1d : 5362284174 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
g § e~ e WRAE ST e § S99 § 99 99 T 2 99

A, ERAT F A e T

D. =F T

e faFeT 5 9 78 30 2

(1) Ha4ARB
(2) #=Ee B3 C
(3) WHaA CHED
(4) FATBHRTD

Options :

53622816261. 1
53622816262. 2
53622816263. 3
53622816264. 4

Question Number : 92 Question Id : 5362284175 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Choose two primary causes of Physical domestic violence as per NFHS surveys and many
other studies in India

A Childlessness

BE. Economic prosperity

C. Intergenerational transmission of violence
D. Higher level of education

Choose the correct answer from the options given below :

(1) A and B only (2) BandC only
(3) A and C only (4) AandD only
Options :

53622816265. 1
53622816266. 2
53622816267.3
53622816268. 4

Question Number : 92 Question Id : 5362284175 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A T U7 UF U9 UH TAL AT FE 7 AT F STER ARG T B 2 O R S

A. [RE:GIEG
C.  fEm = e it g
D. foear =1 3= T

o faFaT 0 of TR 3

(1) a7 A =7 B (2) =EE B s C
(3)  Fae A #RC (4) Fa AT D
Options :

53622816265. 1
53622816266. 2
53622816267.3
53622816268. 4

Question Number : 93 Question Id : 5362284176 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Gender 1nequalities in soclety are attributed to masochism and penis envy among females.
This view 1s held by which of the following scholars?

A. J. Lacan

B. J. Kristeva
C. J. Mitchell
1. B. Mitchell

Choose the correct answer from the options envy below :

(1) A.B. D only (2 A.B. Conly
(3) B. C. D only {40 A, C.,Donly
Options :

53622816269. 1
53622816270. 2
53622816271.3
53622816272. 4

Question Number : 93 Question Id : 5362284176 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TS T ST ST T U a9 S § 5 S % Fe w5 7| 9w 2o e A 6 e e .

?

e

A. ERRCiED

B. . e

C. = fo==

D. i foee

A= et 9 1 =8 S S

(), =9 A.B.D (2) a9 A B.C
(3) FaB.C.D (4) +a9 A C. D
Options :

53622816269. 1
53622816270. 2
53622816271.3
53622816272. 4

Question Number : 94 Question Id : 5362284177 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The main works of Karl Marx were :

Dictionary of Marxist Thought

Power : A Radical View

Grundrisse

Class and class conflict 1n Industmal society

A contribution to a critigue of political economy

MO 0w

Choose the correct answer from the options given below :

(1) C and E only (2) AandD only
(3) D and E only (4) B andD only
Options :

53622816273.1
53622816274.2
53622816275.3
53622816276. 4

Question Number : 94 Question Id : 5362284177 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
et i i e e o

A TeTEEd ST A o

B. Wi UiEmA

D. FATH TUE FoAlH FATFAFE 397 S2iegde] A2

E.  UHisgEA 7 v GRfew o qiieteser s

(1) FaaCsRE (2) a1 A 3 D

(3) Faa D #HRE (4) e B 3D
Options :

53622816273. 1
53622816274.2
53622816275.3
53622816276. 4

Question Number : 95 Question Id : 5362284178 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



Which of the following are elements of induction?

General statements

Suggesting a regular association between two or more variables
Conclusion 1 the starting point

Derived from a series of empirical observations
Firm eonclusion

Mo awE

Choose the correct answer from the options given below :

(1) A, B and C only (2) C.Dand E only
(3) B and D only (4) B, Dand E only
Options :

53622816277. 1
53622816278. 2
53622816279.3
53622816280. 4

Question Number : 95 Question Id : 5362284178 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
freAfefas § @ W (S59E) F A FE H 27

A, HHA FY

B. =T wAfaw =0 % o= e e gge e

C. Fresd ol famg 2

D. SRS AT e ® e

(1) == A B #RC (2) “a= C.D 3R E

(3 A= B 3D (4 7= B,D @ E
Options :

53622816277. 1
53622816278. 2
53622816279.3
53622816280. 4

Question Number : 96 Question Id : 5362284179 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

Who among the following, have used comparative method in their studies?

A. Emile Durkheim

B. B. Malinowskl

C. A R. Radchiffe-Brown
D. Max Weber

Choose the most appropriate answer from the options given below :

(1) A, Band C only (2) B.Cand D only
(3) A CandD only (4) B.Cand Aonly



Options :

53622816281. 1
53622816282. 2
53622816283.3
53622816284. 4

Question Number : 96 Question 1d : 5362284179 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

freferias | @ e 3109 seraat |3 gemreas &t @ a2 7

B. T, BT

33 U AW, T2, W

D. Ao =5

e fowerl § 0 o 30 3

(1) FaAABIRC (2) == B.C 3T D

(3) FAAA.CHRD (4) FI= B.C #RA
Options :

53622816281. 1
53622816282. 2
53622816283.3
53622816284. 4

Question Number : 97 Question Id : 5362284180 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following elements are involved 1n data analysis?

A, Data collecting

B. Coding

C. Editing

D. Classification

E. Observation

Choose the most appropriate answer from the options given below :

(1) A. B and C only (2) B.C and E only

(3 A, Dand E only 4y B,CandDonly
Options :

53622816285. 1
53622816286. 2
53622816287. 3
53622816288. 4

Question Number : 97 Question Id : 5362284180 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



r L.}

FelEa ¥ O FH-9 9ed s Gy ® e 7

B.  =if=T

C. A

D. Ediszul

E. & | ST

e e 0 9 o8 397 2

(1) =9 A B#ErC (2) == B.C s E

(3) =F=a9A.D#ERE (4) a7 B.C sx D
Options :

53622816285. 1
53622816286. 2
53622816287. 3
53622816288. 4

Question Number : 98 Question Id : 5362284181 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to T. Shanin which of the following are characteristics of the peasant societies?
A Family labour

B. Production for Market

C. Agriculture as a way of life

D. Dependence on Urban means

E. Underdog position

Choose the most appropriate answer from the options given below :

(1) A, Band C only
(2) A, Cand E only
(3) B. C and D only
(4) C.D and E only

Options :

53622816289. 1
53622816290. 2
53622816291.3
53622816292. 4

Question Number : 98 Question Id : 5362284181 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0
F1, AR F SFER FE T FAEEd § " wiE 5 e 27

A TR 99
B. STAT = To70 30072

C. == ugfd = =9 7 3
D. @ = W A

=1 [T ° ° HE T 3
(1) a9 A B#rC
(2) FaFACHTE
(3 FIAB.CHEID

(4) F== C.D wn E

Options :

53622816289. 1
53622816290. 2
53622816291.3
53622816292. 4

Question Number : 99 Question Id : 5362284182 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

Which of the following clauses in the Indian Constitution apply only to Scheduled Castes and
Scheduled Tribes?

A. Art 340

B. Art 16

C. Art 330

B. Art 275

E. Art 148

Choose the correct answer from the options given below :

(1) B. A, D only (2) C.D. Eonly

(3) D. B. C only 4y A, C,Donly
Options :

53622816293. 1
53622816294. 2
53622816295.3
53622816296. 4



Question Number : 99 Question Id : 5362284182 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT A9 F FEACEd 8 3w ° Se0e A ST S SEE 59 eE WSR2 7

A. HAIwag 340

B. A= 16

. =3 330

D. =g 275

E. AToHE 148

T fawei 0 0 wE 3 2

(1) ==« B.AD (2) === C.D,E

(3 FaaD.B.C (4) Fa7A.C.D
Options :

53622816293. 1
53622816294. 2
53622816295.3
53622816296. 4

Question Number : 100 Question Id : 5362284183 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

After independence. t1ll 1970, the sociological and social anthropological studies have shown
a deep concern for which of the following three developments 1n India?

A Environmental

B. Cultural

C. Economic

D. Gender

E. Social

Choose the correct answer from the options given below :

(1) A. B. C only (2) B.C.Donly
(3) C.D. E only (4) C.E.Bonly

Options :

53622816297. 1
53622816298. 2
53622816299. 3
53622816300. 4

Question Number : 100 Question Id : 5362284183 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



URA § T F A 1970 7, TS WTEE 3 SIS § a9 Ao ° fAetiEd 2 5 w5 A
farran W e T == o T R 7

A CEIER

B. @Faw

D. w0

e faFen oo od =97 2 ;

(1) == A.B.C (2) === B.C.D

(3) #a= C.D.E (4) +a= C.E.B
Options :

53622816297. 1
53622816298. 2
53622816299. 3
53622816300. 4

Question Number : 101 Question Id : 5362284184 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following three characteristics did the feudal estates of medieval Europe have?

A. Had a Status

B. Serfdom was decreasing

C. Were political groups

D. Had division of labour

E. Serfs had ability to appeal for justice

Choose the most appropriate answer from the options given below :

(1) A. B and E only
(2) A Cand D only
(3) D. E and B only

(4) C.D and B only

Options :

53622816301. 1
53622816302. 2
53622816303.3
53622816304. 4

Question Number : 101 Question Id : 5362284184 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0
eI J0T F ATEAT AF (estates) i FeAfEa § F F9 = A= EioTZam i ¢
A EREA A
B. 28 T BEAE
C.  TaAIGE @98 4
D. e el

fefetad faserd § & Zaiias 299w 370 9MT

(1) FadAB#TE
(2) FEAA.C#FED
(3) # = D.E =R B
(4) F=9C.D T B

Options :

53622816301. 1
53622816302. 2
53622816303. 3
53622816304. 4

Question Number : 102 Question Id : 5362284185 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which two of the following conditions are must for an "Urban agglomeration”"?

A, Statutory Town

B. Census Town

C.  All constituents must have 20.000 or more persons

D. A degree college

E. Primary Health Centre

Choose the most appropriate answer from the options given below :

(1) A and B only (2) AandC only

(3) B and D only (4) A and E only
Options :

53622816305. 1
53622816306. 2
53622816307.3
53622816308. 4



Question Number : 102 Question Id : 5362284185 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FEE T (e TAEEET) F A et § 5 w6 6§91 St a2

B. FATIET TR

C. =i 5uz®i 4 20000 W1 SAa® = 24 FET

D. T EAF TR

Ta=ferfgs faerdl @ @ waiias 99w =5 90

(1) a5 AR B (2) FEw A 3 C

(3) FaA B3 D (4) FF9 A =R E
Options :

53622816305. 1
53622816306. 2
53622816307.3
53622816308. 4

Question Number : 103 Question Id : 5362284186 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which two of the following are the biggest dams in India?
A. Bardar Sarovar Dam

B. Bhakra Dam

C. TehriDam

D. Hirakud Dam

Choose the most appropriate answer from the options given below :

(1) A and B only (2) BandD only

(3) B and C only {4y DandA only
Options :

53622816309. 1
53622816310. 2
53622816311. 3
53622816312. 4

Question Number : 103 Question Id : 5362284186 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



freaferfiad 5 9 %9 O 21 91y 9w = gad e sy 2 7

A, TER W A

B. I =T

C. 7=t =y

D. #OFs g

Frfafa famedt @ | maifus 399F = 90

(1) a9 ARB (2) F== B w7 D

(3 FEABHATC (4) F=I= D #HT A
Options :

53622816309. 1
53622816310. 2
53622816311. 3
53622816312. 4

Question Number : 104 Question Id : 5362284187 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

On which of the following dates Earth day and World Environment day are celebrated?

A Apnl 22

B. Apnml18

C. dJuneb

D. dJunell

E. February 2

Choose the most appropriate answer from the options given below :

(1) AandD only (2) AandC only

(3) B and C only (4) D andE only
Options :

53622816313. 1
53622816314. 2
53622816315.3
53622816316. 4

Question Number : 104 Question Id : 5362284187 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A, 22 3T

B. 18 370

C. 5=

D. 1153

E. 2 FTEA

freATeAfEs et & & Taias 399 397 96

(1) e A siR D (2) Ha= A 57 C
(3) FaABHARC (4) Faa D W E
Options :

53622816313. 1
53622816314.2
53622816315.3
53622816316. 4

Question Number : 105 Question Id : 5362284188 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following books are authored/co-authored by Stanley Cohen?
A. Folk. Devils and Moral Panics : The creation of Mods and Rockers
B. Frontiers of Identity : The British and others

C. Visions of Social control

D. The Urban Question

E. The Manfacture of News

Choose the most appropriate answer from the options given below :

(1) A B, Conly (2y B.C.Donly
(3) A, C, E only (4) C,D.Eonly
Options :

53622816317. 1
53622816318. 2
53622816319.3
53622816320. 4

Question Number : 105 Question Id : 5362284188 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



] e FefetEd 3§ A T % o e R

B. HETH HTE AESRA 2 Eew uE s

3 s ATF T F2

D. 3 ¥ FI9=A (Question)

ety faset 9 1 Fafias 395 37 9040

(1) FaAAB#ATC (2) == B, C st D
(3) Fas A C3HTE (4) 9= C,D 57 E

Options :

53622816317. 1
53622816318. 2
53622816319.3
53622816320. 4

Question Number : 106 Question Id : 5362284189 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Michio Kaku in his "Three Pillars of Revolution’ talks of which of the following?

A. Quantum Revolution

B. Silicon Revolution

C. Computer Revolution

D. Bio-molecular Revolution

E. Green Revolution

Choose the most appropriate answer from the options given below :

(1) A, B, Conly (2) A.C.D only

(3) D.C. E only (4) B, C.Donly
Options :

53622816321. 1
53622816322. 2
53622816323.3
53622816324. 4

Question Number : 106 Question Id : 5362284189 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



AT TEAT “oft T AT e | i g et § @ e e A = e 2 7

B.  TafewE

D.  HF-wiEE HA

feferiaa ket ® & Faitas 299 3 9HT

(1) #==A.B=rC (2) =@ A C 3D
(3 =FF@D.C #RE (4) FFAB,.CHED

Options :

53622816321. 1
53622816322. 2
53622816323.3
53622816324. 4

Question Number : 107 Question Id : 5362284190 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : (
According to R.K. Merton. which of the following constitute ‘ethos of science™

A. Organised sceptism

B. Interestedness

C. Umnversalism

D. Communalism

E. Cogmitivism

Choose the most appropriate answer from the options given below :
(1) A, B, Conly {2y E.C,Aonly

(3) A, C. D only {(4) C.D.E only

Options :

53622816325. 1
53622816326. 2
53622816327.3
53622816328. 4

Question Number : 107 Question Id : 5362284190 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



HW %, Wed o SEN FEeiEd § 9 A 5 59 A7 @58 F 92w

A, Hiiad HIEARE

B ATEr

D TR

T fasheral @ @ maitas 3995 0 THT

(1) =5 A.B 3R C (2) === E, C 3K A

(3) FAAACHTD (4) #I9 C,D #T E
Options :

53622816325. 1
53622816326. 2
53622816327.3
53622816328. 4

Question Number : 108 Question Id : 5362284191 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which from among the following are determinants of biological sex. relevant in gender test?

A, Reproductive organs

B. (Gendertag

C. Hormonal states

D. Secondary sex characteristics

E. Occupational index

Choose the most appropriate answer from the options given below :

(1) A, C, Donly 2y A.B.Conly

(3) B. C. D only (4) A, B.Donly
Options :

53622816329. 1
53622816330. 2
53622816331.3
53622816332. 4

Question Number : 108 Question Id : 5362284191 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



freAfeilias § | FH-%0 T AaF A o [aE # 7 5= (gender) THAT H G B¢

B. T (gender) T2

C.  FEAF FEE

D. T S e

E. STFATET FeEHF

() a9 A C#HED (2) A A, BT C

(3) FaAB.C#RD 4 FATA.BHTD
Options :

53622816329. 1
53622816330. 2
53622816331.3
53622816332. 4

Question Number : 109 Question Id : 5362284192 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are characteristics of pre-capitalist mode of production?
A.  Unfree labour

B. Commodity production

C. Fusion of economic and political power

D. Mechamsation

E. Subsistence

Choose the most appropriate answer from the options given below :

(1) A, B, Conly (2 B.C.Eonly
(3 C.D. E only (4) A,C,Eonly
Options :

53622816333. 1
53622816334. 2
53622816335.3
53622816336. 4

Question Number : 109 Question Id : 5362284192 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



B Hiel Ioa1eA

C. ISR 3T AT o1k = THFA

E SHraa-Far

f=foiEs T # o Zatas Sug =0 960 ¢

(1) a9 A B3R C (2) a9 B, C 3R E
(3) F=AC.DHRE (4) Fae A, C 3 E

Options :

53622816333. 1
53622816334.2
53622816335.3
53622816336. 4

Question Number : 110 Question Id : 5362284193 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are characteristies of social movement?
It 15 a collective behaviour

P

B It is oriented towards goals

C It can bring or resist change

D. Causes of movement are always real, known or unknown
E Movement 1s caused by deprivation only

Choose the most appropriate answer from the options given below :

(1) A B.Donly (2) B.C.Eonly
(3) A. B, Conly {4y C,D. E only
Options :

53622816337. 1
53622816338. 2
53622816339.3
53622816340. 4

Question Number : 110 Question Id : 5362284193 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FeAtetlias & @ - = @ AEeE a2 7

B. a?ﬁﬁ?md‘!;w%

C. uE YA o FEHAl £ A7 Oiry o oAl B

D. E ot o e e ) Bt e £ e M e B e o

E. ATEEA A 9= 5 HE0 Fd A

fefafEs ot 8 & =8 207 9T,

(1) === A.B =D (2) === B, C #it E

(3) A A, B 3R C (4) a9 C,D #R E
Options :

53622816337. 1
53622816338. 2
53622816339.3
53622816340. 4

Question Number : 111 Question Id : 5362284194 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following scholars had contributed to ‘Education and Cultural Reproduction'?

A. Basil Bernstein

B. J.Lacan

C. Steve Bruce

D. Bryvan S. Turner

E. P.Bourdieu

Choose the most appropriate answer from the options given below :

(1) A and E only (2) BandD only

(3) D only (4) C and D only
Options :

53622816341. 1
53622816342.2
53622816343.3
53622816344. 4

Question Number : 111 Question Id : 5362284194 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fAeAfaiEa ¥ @ 7569 fage 9 “TE9oH UPE weaid TUsHET W ArEE =T

B. . @M

D. =EFTHZHR

=1 1 = maifas 795 377 =4

(1) FaAATE (2) F=BID

(3) Fa@D 4) FamCaD
Options :

53622816341. 1
53622816342. 2
53622816343.3
53622816344. 4

Question Number : 112 Question Id : 5362284195 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which two of the scholars are known to be influenced by the works of J. Lacan?
A, J. Knsteva

B. J. Miichell

C. AN. Oakley

D. B. Hooks

Choose the most appropriate answer from the options given below :

(1) A and C only (2) BandC only

(3) A and B only (4) AandD only
Options :

53622816345. 1
53622816346. 2
53622816347.3
53622816348. 4

Question Number : 112 Question Id : 5362284195 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



faefoitga 8 o %19 9 2 fagm Fif® & == i =0 ° THiiEad 991 9 2 7

A T FEE

B. ERRE

C. U,

D. =l 7

=1 faeperal 9 & TS T 390 T

(1) == ATFC (2) #FFTBAC

(3) FaTATB (4) HFTATD
Options :

53622816345. 1
53622816346. 2
53622816347.3
53622816348. 4

Question Number : 113 Question Id : 5362284196 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The works of P. Bourdieu were

A.  The Rules and Network 1n society

B. The State Nobility

C. Economy and Society

D. Distinction

E. Raw and cooked

Choose the most appropriate answer from the options given below :

(1) B and D only (2) AandC only

(3 E and B only (4) A andE only
Options :

53622816349. 1
53622816350. 2
53622816351.3
53622816352. 4

Question Number : 113 Question Id : 5362284196 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A. 3 ¥oH UUS 429% 5 O

C. S UUS HETEE]

E. T T F9E

() +F@@BAD (2) #FAATC
(3) F=wEAB 4) FEATE

Options :

53622816349. 1
53622816350. 2
53622816351.3
53622816352. 4

Question Number : 114 Question Id : 5362284197 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Domestic and sexual viclence 1n India 1z related to liberal laws concernming which of the
following?

A, Dowry

E. Rape

C. Honour killing

D. Divorce

E. Live-in relationship

Choose the most correct answer from the options given below :
(1) A.B. Donly {(Z2) A.B.E only
(3) B. C.Donly 4y C,D, Eonly

Options :

53622816353. 1
53622816354. 2
53622816355.3
53622816356. 4

Question Number : 114 Question Id : 5362284197 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



s ey = S e et 4 7 s e e A @ g 30

A =S

B.  S&R

C. e 749

D. d==®

E. TEaET (Live-in) THER

(1) ==a9 A B. D (2) =#as A.B, E

(3) Fa@ B.C.D (4) #a% C.D.E
Options :

53622816353. 1
53622816354. 2
53622816355.3
53622816356. 4

Question Number : 115 Question Id : 5362284198 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Sylvia Walby in her book ‘Theorising Patriarchy’ talks of elements of patriarchy. Which of
the following 1s not one of them.

A. Women are likely to be paid less

B. Sexuality 1s to be treated positively

C. Women are more represented in media

D. Women are likely to raise children

E Men and women are likely to be treated equally

Choose the most appropriate answer from the options given below :

(1) A B. Conly (2) B.C.Donly
(3) A C,Donly (4) C.D.E only
Options :

53622816357. 1
53622816358. 2
53622816359. 3
53622816360. 4

Question Number : 115 Question Id : 5362284198 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



F °1 399 FH B 7

B TTRAT il GREAF Taa=a1 i F9EE T E

C Hifsan | Afzenatt =1 sAfaw afafafae =@ 2|

D. THAA: HEa™ = 1 A - A
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= 9Fe9T 9 9 95l 370 2

(1) == A.B.C (2) === B.C.D
(3) =F=A A C.D (4) == C.D.E
Options :

53622816357. 1
53622816358. 2
53622816359. 3
53622816360. 4

Question Number : 116 Question Id : 5362284199 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List IT :
ListI List IT
Concept Proponent
(a) Little and Great Tradition (1) Sorokin and Zimberman

(b) Parochalization and Universalization (1) DM.N. Srinivas
{c) Bural-Urban continuum (111) Robert Redfield

(d) Sanskrmtization and Westernization (1v) DMekim Marriot

Choose the correct answer from the optionis given below :

(a) (b) (c) (d)
(1) (111) (1) (11) (1v)
(2) (111) (1v) (11) (1)
(3) (1) (i1) (iv) (i11)
(4) (iv) (ii) (1) (111)

Options :

53622816361. 1
53622816362. 2
53622816363. 3
53622816364. 4

Question Number : 116 Question Id : 5362284199 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T1-1 7 11 =1 Hafea =

AFeTo-1 TiaaTe-I1
(a) =g F FE TEA (i) HEE T T 5
(b) Tl 0T I WIEHTE R0 (i) vH.TH. HiHEE
(¢) Tm-TL fweaTa (i) =2 13 Fies
(d) TEFdE F Ui (iv) #fFT Bz
=it fpeml 3 @ w81 37 oA
(a) (b) (c) (d)
(1) (ii1) () (i1) (iv)
(2) (111) (1v) (11) (1)
(3) (i) (ii) (iv) (iii)
(4) (1v) (11) (1) {111)

Options :

53622816361. 1
53622816362 2
53622816363.3
53622816364. 4

Question Number : 117 Question Id : 5362284200 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match Tast T with Tast IT :

ListI List IT
Author Book
(a) P.L. Berger (1) Economy and Society
(b) T.Parsons and N. Smelser (1) Social Theory and Social Strucuture
(c) T.B. Bottomore (1) Inwvitation to sociology
(dy R.K. Merton (iv) Classes in modern society

Choose the correct answer from the options given below :

(a) (b) (c) (d)
(1) (1v) (i11) (1) (i1)
(2) (111) (1v) (11) (1)
(3) (111) (1) (iv) (11)
(4) (1) (iv) (i1) (111)

Options :

53622816365. 1
53622816366. 2
53622816367.3
53622816368. 4

Question Number : 117 Question Id : 5362284200 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



w1 = 11 1 Faferd =)

wEF-1 - I1
(a) TIUE. FW i) =HEE T @EEA
(b) 7. TEEE T T, HeEt (i) T AN U T
(c) . wemn (i) =T 7 T
(d) #5247 (iv) FETEH =9 T FEEa

e fasea & @ a8t 571 =4

(a) (b (€) (d)
(1) (iv) (111) (1) (11)
(2) (111) (iv) (11) (1)
(3) (111) (1) (iv) (1)
(4) (1) (iv) (11) (111)

Options :

53622816365. 1
53622816366. 2
53622816367. 3
53622816368. 4

Question Number : 118 Question Id : 5362284201 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with List IT :

List I Last IT
Authors Published work
(a) Rosa Hartmut and William (1) Telewision and Social Change in Rural
Scheuerman India
(by EKirk Johnson (i1} The Fastfood Nation
(¢) Eric Schlossere (1) High Speed Society
(d) Dona Haraway (iv) Simians, Cyborgs and Women:

Reinvention of Nature

Choose the correct answer from the options given below :

(a) (b) (c) (d)
(1) (11) (111) (1v) (1)
(2) (iii) (1) (i1) (iv)
(3) (&) (ii1) (iv) (i)
(4) (iv) () (i1) (111)

Options :

53622816369. 1
53622816370. 2
53622816371.3
53622816372. 4

Question Number : 118 Question Id : 5362284201 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



=t 7 II =1 gHfera 1|

(a)
(b)
(c)
(d)

a1 T =11
T FEEE 9 TafeEm EEEe (i) ST UUE Hi9e 99 =9 Fe 3iesan
% T (i) 7 FE B ATH

feTera ¥ o TA 39 9

(1)
(2)
(3)

4)
Options :

(a) (b)
(i1) (111)
(iii) (1)
@ (11)
(xv) (1)

53622816369. 1
53622816370. 2
53622816371.3
53622816372. 4

Question Number : 119 Question Id

Mandatory : No

Correct Marks : 2 Wrong Marks : 0

=

(c) (d)
(1v) (1)
(11) (1v)
(iv) (i)
(11) (111)

: 5362284202 Question Type : MCQ Option Shuffling : No Is Question



Mateh List T with List 1T :

Last I List IT
Scientist Seientific contribution
(a) Kepler (11 Mechanical philosophy
(b) Boyle (1) Planetary orbits
(¢) Descartes (1) Gaslaw
(d) Harvey (iv) Classification of plants

Choose the correct answer from the options given below :

(a) (b) (c) (d)
(1) (1) (1v) (111) (11)
(2) (i1) (111) (iv) (1)
(3) (11) (111) (1) (1)
(4) (iv) (i1) @ (111)

Options :

53622816373. 1
53622816374. 2
53622816375.3
53622816376. 4

Question Number : 119 Question Id : 5362284202 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Tft-1 7 I1 =t g =

(@) () forfre feamd

(b) =EAS (i) T W

(© =#E (i) = =

(d = (iv) TEATETEReE HTF e
faenitra fapel 9 @ w8 5 9

(a) (b) (c) (d)

(1) (1) (iv) (111) (ii)
(2) (11) (ii1) (iv) (1)
(3) (11) (iii) (1) (iv)
(4) (1v) (i1) (1) (111)

Options :

53622816373. 1
53622816374. 2
53622816375.3
53622816376. 4

Question Number : 120 Question Id : 5362284203 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with Tist IT :

ListI List II
Authors Books
{a) A Agarwal (1) Sacred Ecology
(b) J.M. Acheson (1) Cows, Kin and Globalization
(c) S.A. Crate (m) Capturing the commons
(d) F. Berkes (1v) Environmentality

Choose the correct answer from the options given below:

(a) (b) (c) (d)
(1) (111) (11) (1) (1v)
(2) (iv) (1ii) (i1) (1)
(3) (11) (iv) (1i1) (1)
(4) (1) (111) (11) (1v)

Options :

53622816377. 1
53622816378.2
53622816379. 3
53622816380. 4

Question Number : 120 Question Id : 5362284203 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



-1 7 11 = HHifed =1

(a) T, AT (i) Tz T

(b) H.UH, FH=EA (i) 39, T 08 THEAEETE
(€ TET H (ili) =FCEET 3 T

(d) TF THE (iv) SamEHlAR

F=ifra foFe s 8 9 98 39 ﬂf{ :

(a) (b) (c) (d)
(1) (111) (1) (1) (iv)
(2) (iv) (111) (i1) (1)
(3) (11) (iv) (iii) (1)
(4) (1) (111) (ii) (iv)

Options :

53622816377. 1
53622816378.2
53622816379. 3
53622816380. 4

Question Number : 121 Question Id : 5362284204 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with IT:

TLast T Last IT
Scholars Work
(a) Oscar Lewis (1)  Right to the City
(b) Lious Wirth (1) Culture of Poverty
{c) Janice Perlman () Myth of Marginality
(d) Dawid Harvey (tv) Urbanism

Choose the correct answer from the options given below:

(a) (h) (c) (d)
(1) (1) (iv) (i11) (1)
(2) (111) (11) (iv) (1)
(3) 1) (111) (11) (iv)
(4) (1v) (1) {111) (11)

Options :

53622816381. 1
53622816382. 2
53622816383.3
53622816384. 4

Question Number : 121 Question Id : 5362284204 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fagm-1

(a) SR Hiag

(b) ==d T4

(c) T\ TEE

(@ = e
FrAtea faemi 4 & o8 = =

(a) (b)

(1) (ii) (iv)
(2) (iii) (i1)
(3) @ (iii)
(4) (iv) (1)

Options :

53622816381. 1
53622816382. 2
53622816383.3
53622816384. 4

Question Number : 122 Question Id :
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(c)
(111)
(iv)
(i1)
(111)

5362284205 Question Type : MCQ Option Shuffling : No Is Question

(1)
(i1)
(111)

(iv)

(d)
(1)

(av)

(11)

=111



Matech List T with List IT:

ListI List II
{(Research Work) (Method)
(a) Field observation (1) Survey

(b) Looking at cause and effect (1) Content analysis
relationships

(c) Aim to describe a few characteristics (1) Empirical Research
of a large population

(d) Analysis of newspaper and media (1v) Explanatory Research
reports

Choose the correct answer from the options given below:

(1) (a)-). (b)-v). (¢)-Q). (d)-(1)
(2) (a)-(1v). (b)-(1). (e)-(11). (d)-(111)
(3) (a)-(v). (b)-(i1), (e)-(111). (d)-(2)
(4) (a)-(1). (b)-(11). (c)-(11). (d)-(1v)

Options :

53622816385. 1

53622816386. 2

53622816387.3
53622816388. 4

Question Number : 122 Question Id : 5362284205 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



o1 @ 11 1 gafera =)

TET FAII
oY AT fafa
(a) &9 FFTFA 1 =
(b) FE-FA0 T TR T TS AT (i) A fEveTT
€ =H 2 F T FEmwme w oA W (i) st me
(d) @aEER T 3 Hitzan f @ favem (iv) =ATEAEHF oY
ferfra fomredl ®§ & B9 39 99

(1) (a)-(111). (b)-(1v). (c)-(1), (d)-(11)
2)  (@)-v). (b)-G). (e)-(ii). (d)-(iii)
(3) (a)-(v). (b)-(11). (e)-(11), (d)-(1)
(4) (@)-(1). (b)-(11). (c)-(m1), (d)-(1v)

Options :

53622816385. 1

53622816386. 2

53622816387.3
53622816388. 4

Question Number : 123 Question Id : 5362284206 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List I with List IT:

Last I Last IT
(Works) (Author/editor)
(a) India’s Changing Villages (1) M.N. Srinivas
(b) A Rajasthan Village (1) S.C. Dube
(c) The Remembered Village (1) MecKim Marriott
{(d)y Village India (iv) B.R. Chauhan

Choose the correct answer from the options given below:

(1) (2)-0). (b)-(id). (¢)-(iid). (d)-Gv)

2 (-, d)-i), (e)-Gv), (d)-(1)

(3)  (a)-(i). b)-(iv). (e)-(). (d)-(iii)

(4) (a)-(1v). (b)-(1). (c)-(). (d)-(111)
Options :



53622816389. 1
53622816390. 2
53622816391. 3
53622816392. 4

Question Number : 123 Question Id : 5362284206 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

11 7 11 %1 Hfea #40|

[

-1 oI
(a) 3forTa =f faesm (i) T i
(b) T IHEAH e G) m
(¢) = fmms faerw i) ¥ e
@ e sforn (iv) .=, JEE

=1 Tome /5 w91 570 =4

(1) (@-@). (b)-{i). (e)-(ii), (d)-(iv)
(2)  (a)-(). (b)-(iid), (e)-(iv). (d)-()
(3) (a)-(11). (b)-(iv). (e)-(1). (d)-(1i1)
@) (a)-(v). (b)-(). (e)-(1). (d)-(iii)

Options :

53622816389. 1
53622816390. 2
53622816391.3
53622816392. 4

Question Number : 124 Question Id : 5362284207 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT;

ListI List IT
(Social Thinkers) (Concepts)
(a) M. Castells ()  Binary Oppositions
(b) M. Foucault (1) Networking Logic
(¢) Levi-strauss (1) Plastic Sexuality
id) A Giddens (1v) Panoptical Surveillance

Choose the correct answer from the options given below:

(1) (a)-(1). (b)-(1v), (c)-(11), (d)-(1)
(2)  (a)-(D). (b)-(v). ()-(1). (d)-(1i1)
(3)  (a)-(iv). (b)-(). (e)-(iD). (d)-(ii1)
(4)  (a)-(1). (b)-(iv). (c)-@). (d)-(i1)

Options :

53622816393. 1
53622816394.2
53622816395.3
53622816396. 4

Question Number : 124 Question Id : 5362284207 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Ti-1 = I1 %1 gafera 4|

-1 =11
(a) TUA. FEoH (1) fz=m wfe=ri (Binary Oppositions)
(b) TH. T (i) FeatH o
(c) == = (i) TATE=TS ST
(dy v == (iv) = =3y (Ffew=) Fmr

= o ° 5 3 o

(1) (a)-(11). (b)-(1v). (c)-(111). (d)-(1)
(2) (a)-(11). (b)-(1v). (e)-(1). (d)-(111)
(3 (a)-(1w). (b)-(1). (c)-(11). (d)-(111)
(4) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)

Options :

53622816393, 1

53622816394. 2

53622816395.3
53622816396. 4

Question Number : 125 Question Id : 5362284208 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with List IT:

ListI List IT
Proponents (Concepts)
(a) K.Gough (1)  Matriliny in Malabar
(b) T. Nongbr (1) Thahketukalyanam
{cy P.Caplan (1) Seed and earth
(d) Leela Dube (iv) Intersectionality

Choose the correct answer from the options given below:

(1) (a)-(11). (b)-(1). (e)-(iv). (d)-(iil)
@ (a)-(). (b)-(i). (c)-({id). (d)-(v)
(3) (a)-(111). (b)-(11), ()-(1), (d)-(17)
(4) (a)-(1v). (b)-(i11). (c)-(11). (d)-(3)

Options :

53622816397. 1
53622816398. 2
53622816399. 3
53622816400. 4

Question Number : 125 Question Id : 5362284208 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



-1 7 11 1 gofera =

= 1 =10
fqueF HIGRY
(@) . TF (i) ETEE ° EEiE
(b) . st (i) AR
(¢) . FAm (iii) =S = Tl
(d) AT ?_31' (1v) ¥4 A=A

7 0 = I o

(1) (a)-(1). (b)-(1). (c)-(v). (d)-(ii1)
(2) (2)-(1). (b)-(11). (c)-(u11). (d)-(1v)
3)  (@-n). (h)-{), (e)-(). (d)-(Gv)
(4) (a)-(iv). (b)-(iii). (c)-(i1), (d)-(1)

Options :

53622816397. 1
53622816398. 2
53622816399. 3
53622816400. 4

Question Number : 126 Question Id : 5362284209 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following in sequence order the development of human communication.

A Age of Information
B. Age of Speech

C. Age of Writing

D. Age of Electronics
E. Age of Signs

Choose the correct sequence from the options given below :

(), AB.C.D.E
(2 C.B.AD.E
(3 E.B.C.D.A

(4 E.B.D.C.A
Options :
53622816401. 1
53622816402. 2
53622816403. 3
53622816404. 4

Question Number : 126 Question Id : 5362284209 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A =T I
B. ElEdE
C.  FEA T

D. EEezCEdl M

(1) A B.C.D.E
(2) C.B,A.D.E
(3) E.B.C.D. A
(4 E,BD.C A



Options :

53622816401. 1
53622816402. 2
53622816403. 3
53622816404. 4

Question Number : 127 Question Id : 5362284210 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tatecalt Parsons has given the following functions of the social system:

A, Integrative Function
B. Adaptation Function
Latency Function

1 Goal Attainment Function

Choose the correct sequence from the options given below:

(1) C.D.A.B
(2) A.B.C.D
(3) D.C.A B

(4) B.D.A C
Options :
53622816405. 1
53622816406. 2
53622816407. 3
53622816408. 4

Question Number : 127 Question Id : 5362284210 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



ZEFIZ TRESE T HETAE T % AEiEAngd w5 a9 w

A

A=AEa =

e TIH

ffafas fase & @ @9 #9960

(1)
(2)
(3)
(4)

Options :

C.D.A,B
AB.CD
D.C.A. B

B.D,AC

53622816405. 1
53622816406. 2
53622816407. 3
53622816408. 4

Question Number : 128 Question Id : 5362284211 Question Type : MCQ Option Shuffling
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the correct chronological sequence of Yogendra Singh’s books:

A

H O a W

Culture change in India : Identity and globalization
Essays on Modernization

Modernization of Indian Tradition

Ideoclogy and theory in Indian Sociology

Social Stratification and social change

Choose the correct sequence from the options given below:

(1)
(2)
(3)
(4)

AGCED.DB
C.D;AEDB
B EATD
B.C.AED

: No Is Question



Options :

53622816409. 1
53622816410. 2
53622816411. 3
53622816412. 4

Question Number : 128 Question Id : 5362284211 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Irt=g e i1 T & A FAHT F GHT

A. Fool 99 39 3591 AESEA U3 TASASATH
B. THE 3 HIEAE I

D. SEfEAEATA U L9l 59 Sie99 QiE

E. A9 e TEher U8 et =9
TFefefEa Te T 4 o T8 F9 9AT

(1) ACEDB
(2) C.D.AEB
(3) C.B.EAD
(4) B.C.AE.D

Options :

53622816409. 1
53622816410. 2
53622816411. 3
53622816412. 4

Question Number : 129 Question Id : 5362284212 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Give the chronological order of kinship theories given below:

AL Structural funectionalist
B. Alliance
C. Cultural

D. Descent

Choose the correct answer from the options given below:

(1) B.A.D.C
(2) C.,A.D B
(3) D.A.B.C

(4) AB.C.D

Options :

53622816413. 1
53622816414.2
53622816415.3
53622816416. 4

Question Number : 129 Question Id : 5362284212 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ffetiag Trert o 1 98 Fews S|

A, STETE THETHE

B. HEEH

G B-H’:_f_;l_ %

D ERFT

FrAferfas fasem % 5 55 #8 g

(1) B.A.D.C
(2) C.ADB
(3) D.A.B,C

(4) A B.C.D

Options :
53622816413. 1



53622816414.2
53622816415.3
53622816416. 4

Question Number : 130 Question Id : 5362284213 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following iz the correct sequence of the eveolution of marriage according to
L.H. Morgan?

A Synadyasmain
B. Monogamy

C. Group marriage
D. Consanguineous
E. Patriarchal

Choose the most appropriate sequence from the options given below:

(1) D, C.A. B Only
(2) A B.C.E Only
(3) C.D. E. B Only
{4) D. C, A, E Only

Options :

53622816417. 1
53622816418. 2
53622816419.3
53622816420. 4

Question Number : 130 Question Id : 5362284213 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



UH U, A F ATER FEfafad 3 9 fTEe % S e o T g wE E a

B. T AT T
D. T

HeATeAgd e o garas 9 FH GHT ;

(1) == D.C.A#R B
(2) F99 A.B.C3RE
(3) == C,D.E#R B
(4) a4 D.C.A#RE

Options :

53622816417. 1
53622816418.2
53622816419. 3
53622816420. 4

Question Number : 131 Question Id : 5362284214 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Arrange the works of G.8. Ghurye chronologically:

A Two Brahamanical Institutions: Gotra and Charan
B. Religious Consclousness

C. Social Tensions in India

D. Indian Sadhus

E. Mahadev Kolis

Choose the sequence from the options given below :

(1) D.A.B.C.E
(2) AE.CBD
(3) E.D.B,.C A

(4) C,E.AB.D
Options :



53622816421. 1
53622816422.2
53622816423. 3
53622816424. 4

Question Number : 131 Question Id : 5362284214 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A, T FTEEA SR TH U wE
B‘ f'.l"" | ) _|- : - l.J_._ l
C E-l 2T E-" - 3 3 —Jq

D. = Ags

Feferis e @ @ w4 %8 96

(1) D.AB.CE
(2) AECBD
(3) E.D,B.C. A
(4) C.E.ABD

Options :

53622816421. 1
53622816422. 2
53622816423.3
53622816424. 4

Question Number : 132 Question Id : 5362284215 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following in a sequence according to the scheme given by Merton?

A, Obszervation of facts

E. Analysis of observed facts
C. Theory Building

D. Generalization

E. Conceptualization

Choose the correct answer from the options given below:

(1) ABCDE
(2) A.B.E.D.C
(3) B.D,E,AC

(4 D.E.AB.C

Options :

53622816425. 1
53622816426. 2
53622816427.3
53622816428. 4

Question Number : 132 Question Id : 5362284215 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A, AET F ATATFA
B. Ut Tt F7 [HveEm

G fogma fam
D. TR

E. £ IR I ETRY
FAfefiaa forerdi & | w81 %9 9F

() A B.C.D.E
(2 A.B.E.D.C
(33 B.D.E.AC
4 D.EABC



Options :

53622816425. 1
53622816426. 2
53622816427. 3
53622816428. 4

Question Number : 133 Question Id : 5362284216 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Find the chronological sequence of the following.

A Implementation of Panchavat Raj

E. Integrated Rural Development Programime
C. Reservation of seats 1n Village Panchavats
D. Community Development Programme

Choose the correct answer from the options given below:

(), A.B.C.D
(2 B.C.D.A
(3 C.D.A.B
(49 D.A.B.C

Options :

53622816429. 1
53622816430. 2
53622816431.3
53622816432. 4

Question Number : 133 Question Id : 5362284216 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



AT =1 ey et

A. T TS T A
e o T=Eal 4 52 5 AR

D. ATHTEF 2T 919 FT96

freAfefEd foFedt § 7 521 %9 96w

(1) A.B,.C.D
(2) B.C.D,A
(3) C.D.LA.B

(49 D.AB.C

Options :

53622816429. 1
53622816430. 2
53622816431.3
53622816432. 4

Question Number : 134 Question Id : 5362284217 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following cities according to their ranking in cleanliness given by Ministry of

Urban Development on the basis of cleanliness index. 2017.

A, Surat

Bhopal
Indore

D. Vishakhapatnam

Choose the correct answer from the options given below:

(1) A.C.Dand B
(2) C.B.Dand A
(3) B.C.Dand A
(4) D.B.Cand A

Options :



53622816433. 1
53622816434.2
53622816435. 3
53622816436. 4

Question Number : 134 Question Id : 5362284217 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TEdl forpr e g 2017 | TEeaal g R AR WA TE wEwsal Ao F AT et T

=T =S |
A, A
B T
C Tan

FreAfafas fawed § @ 78 %9 =96
(1) A.C.D3RB
(2) C.B.D#ERTA
(3 B.C.D#HRA
(4) D.B.CHRA
Options :
53622816433. 1
53622816434, 2

53622816435.3
53622816436. 4

Question Number : 135 Question Id : 5362284218 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Choose the correct sequence of the stages of demographic transition.

A High fertility and High mortahity
B. High fertility and Low mortality
C. Low fertility and Low mortality
D. Low fertility and High mortality

Choose the correct answer from the options given below:

() C.A.B.D
(2 B.A.CD
(3) A B.Conly

i(4) B. C. D only

Options :

53622816437. 1
53622816438. 2
53622816439. 3
53622816440. 4

Question Number : 135 Question Id : 5362284218 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(A) T AT AT T goga

(B) = T AR g

(C) = Toar 31 = g

(D) = T 3 T g

ettt e # & w91 %9 g

(1) C.A.B.D
(2) B.A.C.D

(3) FaAA B#RC
(4) =FIAB.CHEID

Options :



53622816437. 1
53622816438. 2
53622816439. 3
53622816440. 4

Question Number : 136 Question Id : 5362284219 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: One 1= labelled as Assertion A and the other 1= labelled as

Rea=zon R:

Assertion (A): The prevailing mode of development through industrmalization and

obzession with infinite growth has impaired eco-system.

Reasons (R) : Obsession with growth without lhimits has overstrained the natural

resource base.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and R is the correct explanation of A
(2) Both (A) and (R) are true but R is not the correct explanation of A
(3) (A) 18 true but (R) 1z false

(4) (A) 1s false but (R) 1s true

Options :

53622816441. 1
53622816442.2
53622816443.3
53622816444. 4

Question Number : 136 Question Id : 5362284219 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Hr= 21 FF B - TR AR (A) 3R gET 9% (R)

AaFT= (A) St #n s gfg 1 s & =i e 1 ovetea fafa 5 offcf

A9 I HEAR w7 B

@ (R) SHIEA Fhg F1 T 4 THE FEEE] ® AW H A w5 A o o 2
SUAH AT o AT § i Sehed # 3 wA S

(1) =9 (A) 3 (R) 3F @21 7 311 R), (A) F1 781 =7 7
(2)  wu (A) H (R) ZH1 = # fed (R), (A) i w81 =ame 9 2|
(3) T (A) T 7, FRg R) T4 2
4  FF(A) @EE 7, T (R) TF 2
Options :
53622816441. 1
53622816442. 2

53622816443.3
53622816444. 4

Question Number : 137 Question Id : 5362284220 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: one 1= labelled as Assertion A and the other 1s labelled as

Reason R.
Assertion (A) : Objectivity in social science research can be maintained to some extent.
Reasons (R) : Objectivity gives the account of the external world as 1t exists

independently of our conceptions, but social world cannot be observed from

outside alone.

In the light of the above statements, choose the most appropriate answer from the options

ziven below :

(1) Both (A) and (R) are correct and R 1s the correct explanation of A
(2) Both (A) and (R) are correct but R 12 not the correct explanation of A
(3) (A) is correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct



Options :

53622816445. 1
53622816446. 2
53622816447.3
53622816448. 4

Question Number : 137 Question Id : 5362284220 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= 2 FAA B - TR AT (A) #Hi g aF (R))

AT (A) : AT faH Y § AT 1 S 78 A A0 AT =1 BT 7
T (R) : TEATHAT, FAW FEUEME § 99 6 9 w=Ew w9 4 fagaw = 2, am mme

(external world) =1 =R T=H Fadl # g A WHTS F1 Fasl W H ATATFA

T T o TR 2
IHT FIAT F ATAF H ARG [aHedl § ° Faias 99 39 9 ¢

(1)  (A) 31 (R) 341 &7 2 31K (R), (A) =i = = 2
(2)  (A) R (R) 21 741 F W (R). (A) F1 #791 =me 76 2
(3) (A =@ 7, 7 (R) W& TH 7

4 (A TFE TE 2, g (R) FE E

Options :

53622816445. 1
53622816446. 2
53622816447. 3
53622816448. 4

Question Number : 138 Question Id : 5362284221 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: One is labelled as Assertion A and the other i= labelled as

Eea=zon E.

Assertion (A): The Preamble of the Constitution seeks to spread fraternity among all
Indians.

Reasons (R) : The Preamble of the Constitution of India guarantees to all citizens of

India. Social. Economic and Political Justice

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and R 1s the correct explanation of A

(2) Both (A) and (R) are true but R 1s not the correct explanation of A
(3) (A) 18 true but (R) is false

(4) (A) 1s false but (R) 1s true

Options :

53622816449. 1
53622816450. 2
53622816451. 3
53622816452. 4

Question Number : 138 Question Id : 5362284221 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



= 2 FUH B - TR AHFEAA (A) F° T TF R

e (A) : afaae $1 wEET 8 g audE % s asen & wEn e H o

T (R) : qTd = HE9E 6 TEEA 9N % = AR D A, ANSE H1E TEAE

=T A A T R

IHT FUAT o A d R w4 H@aiias 39T 30T 94

1) (&) 3R IA T F 5 R), Q) FFE = 2

(2)  (A) =R (R) 41 =41 & 7 (R). (A) i T8 =0 =4 2
(3) (A TH 2, Tt (R) W 76 2

(4 (A =H FE R, w= (R) 7R

Options :

53622816449. 1
53622816450. 2
53622816451.3
53622816452. 4

Question Number : 139 Question Id : 5362284222 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1= labelled as Assertion A and the other 1s labelled as
Reason R.

Assertion (A):  To Merton, Middle range theory 1s concerned with a hmited range of data .
Reazons (R) : In the sociological work of the few past decades there has been much less

concern with the construction of all-embracing theories.

In the light of the above statemets, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and R 1s the correct explanation of A

(2 Both (A) and (R) are correct but R 1s not the correct explanation of A

(3 (A) 1= correct but (R) 1= not correct
(4) (A) 1s not correct but (R) 1s correct
Options :

53622816453. 1
53622816454. 2
53622816455.3
53622816456. 4

Question Number : 139 Question Id : 5362284222 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Hr 21 U 7 - U AfEEYA (A) 9F g8 74 (R)

ATTFIA (A) : T2 1 AEEE g #wsl (data) + Hifga 9 ° H€iad B

7 (R) : o F2 2991 + ST FE 3 96t @ty e & o g 5 e =

=1 T 7

ITGF FUAT & ATEE J ARG (el § # BEiaE 399 I I

(1) (A 3 ®) 3H 76 F # R), (A) F 78 =m= 2
(2) (A 3 (R) 241 @71 2 v (R). (A) =i &# =ame 76 2
(3) (A FH 7, W (R) 5= T 2

(4)  (A)=@#E TE 7, T (R) 79 2

Options :

53622816453. 1
53622816454. 2
53622816455.3
53622816456. 4

Question Number : 140 Question Id : 5362284223 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1= labelled as Assertion A and the other 1s labelled as

Reaszon R.

Assertion (A): In Sociology we use the method of indirect experiment, that 1s,

comparative method.

Reasons (R) : In natural sciences. the establishment of causal connection 1s facilitated by

experiment, but such experiments are impossible in social science.
In the light of the above statemets, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and R 1s the correct explanation of A
(2) Both (A) and (R) are true but R 1s not the correct explanation of A
(3) (A) 18 true but (R) 1s not false

(4) (A) 1s false but (R) 1s true



Options :

53622816457. 1
53622816458. 2
53622816459. 3
53622816460. 4

Question Number : 140 Question Id : 5362284223 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

i 21 A - vEen wEEA (A) 9 260 TF (R)

ST (A) | TOTAIE § FH STUeEA Tem iy qu-gereas @id w1 = e A
T (R) : T AT O FROTCRE GEE T AT gR T s et ¢ e me

fomma o =0 wER & e sEa 2

SO Y] % AT § TR e 8 8 HEiEE ST I A

(1) (A) #R (R) FH F # =i R), (A) F w8 s 2
@ (@) 3R ®) I A E T R®), Q) F =
(3) (A TA 2, 7= (R) 791 74 2|
@ (A=A TE 2, w (R) T 2

Options :

53622816457. 1

53622816458, 2

53622816459. 3
53622816460. 4

Sub-Section Number : 2
Sub-Section Id : 536228165
Question Shuffling Allowed : Yes

Question Id : 5362284224 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension



Read the following passage carefully :

Although, India has the second largest urban population in the world and it also has a large
size of slum population, till 2001 Census data on slums was not available. The Registrar
General of India enumerated slum population in the country for the first time in India in
2001 and that too only for 743 towns and cities. Only 640 towns and cities were reported
having any slum out of the total 5161 towns in India in 2001. In 2011 Census. data on slums
was collected from 4041 cities and towns and only 2542 reported having any slum and the
slum population was only 68 million. Pronab Sen Committee constituted by the Planning
Commussion in 2010 had estimated slum popultion at 93 million. On the other hand, UN-

Habitat (2006) put this number at estimated 170 mallion.

Answer the following questions on the basis of facts described in the above passage :

Sub questions

Question Number : 141 Question Id : 5362284225 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which census year data on slums was collected for the first time?

(1) 1991 (2) 2011
(3) 2001 (4) 1981
Options :

53622816461. 1
53622816462 2
53622816463. 3
53622816464. 4

Question Number : 142 Question Id : 5362284226 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

How many towns / cities were surveyved, and reported having slum population 1s 20017

A 740

B. 743

C. 540

D. G40

Choose the correct answer from the options given below:

(1) Aand B (2) BandD
(3) Band C (4) AandD

Options :



53622816465. 1
53622816466. 2
53622816467. 3
53622816468. 4

Question Number : 143 Question Id : 5362284227 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Calculate the % of Towns / Cities having slum population out of total number of Town /
Cities according to census 2001.

(1) 15 %
(2) 12.3 %
(3) 14.6 %
(4) 11.3 %
Options :

53622816469. 1
53622816470. 2
53622816471. 3
53622816472. 4

Question Number : 144 Question Id : 5362284228 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In how many towns / cities slums were found in 2011 census?

(1) 4041
(2) 2542
(3) 3213
(4) 7935
Options :

53622816473. 1
53622816474. 2
53622816475.3
53622816476. 4

Question Number : 145 Question Id : 5362284229 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What was the slum population according Pronab Sen Committee?
(1) 68 million

(2) 93 million

(3) 170 mallion

(4) 48 million

Options :

53622816477. 1
53622816478. 2
53622816479.3
53622816480. 4

Question Id : 5362284224 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension

Tty wnd fava 9 waitas S SAEE A g9 e A% 99 2 AN Fa gied seadi § e
ST S ] A=) 7, A9 AW Siea g9d ATRS 2001 SEIUET H ST 95 7| 9T HEl THEE

JF WFA § TEU9E 2001 H 25 H gie == S H e e T as o 9 743 ) & w6

2001 # % 5161 O § T FAA 640 T AR WG A Afe st 24 A g=en A 2011 St H
4041 T 3T TR O 9feW afadl & H99 § 3FS UEd 96U 0 AW Fad 2542 9 Ao sl w5
o1 4 ¥R AieH St $ T S Fa9 680 @R | ASET M ERT 2010 ® e T TH
Tfqfa =4 Afer aferm § a1 GEa 930 @@ 7 H e B 2| 390 AW g v-EEez (2006)

J =9 T % 1700 T B9 S A 2

UG T A J00 A% % AR W e 99 % 39 i)

Sub questions

Question Number : 141 Question Id : 5362284225 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tfer el Fadl A gauyd BE S ad § v e g e
(1) 1991 (2) 2011
(3) 2001 (4) 1931

Options :



53622816461. 1
53622816462. 2
53622816463. 3
53622816464. 4

Question Number : 142 Question Id : 5362284226 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

2001 ¥ e 0 /et 1 was SR T S e 3 afen sed S 6 g e

(A) 740
(B) 743
(C) 540
(Dy 640

freafefEs fawedt 8 7 =& 33 9o
(1) (A) =1 (B) (2) (B) #7 (D)
(3)  (B) 3T (C) (4) (A) =T (D)

Options :

53622816465. 1
53622816466. 2
53622816467. 3
53622816468. 4

Question Number : 143 Question Id : 5362284227 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FEOET 2001 % ATER A/ F e T 9 H G sl SHEE 916 9 a9 T
EaiEnd
(1) 15% (2) 12.3%
(3)  14.6% (4) 11.3%
Options :

53622816469. 1
53622816470. 2
53622816471.3
53622816472. 4

Question Number : 144 Question Id : 5362284228 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



2011 1 FTFOET H R T/ IR | Ao aiaa) 1 s i

o

(1) 4041
(2) 2542
(3) 3713
(4) 7935
Options :

53622816473. 1
53622816474. 2
53622816475.3
53622816476. 4

Question Number : 145 Question Id : 5362284229 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TS T GG & ATER Aie Siead i el Saee a1 67

(1) 680 =g
(2) 930 =g
(3) 1700 ="

(4) 450 =g

Options :

53622816477. 1
53622816478. 2
53622816479. 3
53622816480. 4

Sub-Section Number : 3
Sub-Section Id : 536228166
Question Shuffling Allowed : Yes

Question Id : 5362284230 Question Type : COMPREHENSION Sub Question Shuffling Allowed
Comprehension Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension

: Yes Group



Read the following passage carefully :

In the field of human sciences, interdisciplinary research can result from two separate but
interrelated needs. First is the ‘need for information’ and more data. and the second 1s the
need for more common structures or for analytical integration. At the first level. an
interdisciplinary collaboration poses little or no problems. It involves exchange of
information among related disciplines in the belief that such exchange enriches a discipline's
understanding of the phenomena under study. A discipline's boundaries and autonomy in
explanatory terms are not eroded by interdisciplinary contacts at the level of information or
data. It may sometimes lead to adoption of common methods by related disciplines. which in
turn. may pave the way for a possible integration at the level of analyais or perspectives or
interpretative scheme. The fulfillment of this second need for common structures. or what we
have termed as analytical integration, 1s beset with several difficulties. Unlike 1n the natural
sciences, 1n the social seiences there 1s no linear order of sciences ranged between ‘decreasing
generality’ and ‘increasing complexity’. On the contrary. in some of the social sciences, there
1s a marked tendency to reduce explanations of diverse social phenomena to a single
perspective peculiar to that science. Soclologists are often accused of reducing evervthing to
soclology and thelr reductionism 1s often pejoratively dubbed as ‘sociclogical inperialism’
Similar tendencies are noticeable, with differences in degree. among some economists.
political scientists, linguists, psychologists. and so on.

Answer the following questions based on the facts/information described in the above
. passage :

Sub questions

Question Number : 146 Question Id : 5362284231 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Inter-disciplinary research in human sciences results from

(1) Similar and diverse needs. {(2) Multiple and conflicting needs.
(3) Diverse and intra-related needs. (4) Two separate but inter-related needs.
Options :

53622816481. 1
53622816482. 2
53622816483.3
53622816484. 4

Question Number : 147 Question Id : 5362284232 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Interdisciplinary collaboration sometimes involves-
(1) Adoption of different methods by discipline
(2) Adoption of single method by diverse dizciplines

(3) Adoption of common method by related disciplines
(4) Adopdtion of cross-method by one discipline
Options :

53622816485. 1



53622816486. 2
53622816487.3
53622816488. 4

Question Number : 148 Question Id : 5362284233 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The difficulties in analytical integration are due to:

(1) Social sciences having no linear order

(2) Social selences have pure experimental method

(3) Social sciences are simpler in nature

(4) Social sciences have more standardization
Options :

53622816489. 1
53622816490. 2
53622816491.3
53622816492. 4

Question Number : 149 Question Id : 5362284234 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the common tendency among some social sciences?

(1) To expand explanation of diverse phenomena to multiple perspectives
(2) To expand explanation of one phenomenon to multiple perspectives
(3) To reduce explanations of diverse phenomena to one perspective
i(4) None of the above

Options :

53622816493. 1
53622816494. 2
53622816495. 3
53622816496. 4

Question Number : 150 Question Id : 5362284235 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Sociological imperialism’ 1s associated with

(1) Generalization of fact universally

(2) Social sciences are prejudiced

(3) Sociological reductionism

(4) Sociologists align with other social sciences

Options :



53622816497. 1
53622816498. 2
53622816499. 3
53622816500. 4

Question Id : 5362284230 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension

I fas P AT 4 S T Wy g faw W SaEsiae STEvrehds B Tho B O 7| T9H R
A1 | AETIEAT AR AaE S, A T 2 AfdE aniew T AYE) Heenen TaTEe i
AETIHAT| TEd T W A4 T HeEn § W A1 957 9TS1 A9 B0 2 7 HE BECT T4 Bl 21 560 33
favars & =@y Fetaq faw § g fafma amis = 2 32 i seads ofoen % 9n 8 =g faa
F1 TUEER F Tg SHE 2| I A9 SHS] B T W Aq: HUE T 5N SAneenE Seui ° {HE
YA TRHET ST STEATHF A1 F TR W HES FASA H A7 @ 561 7| JHiES 551§ o5
T AEvEEal i g, =1 o wE faverenesE guEer FA 2, F AT § OSEE FiSAEA 2| TEOE
L e O e O 1 T B Pt 1 e | B T e O 1= O | e e e e e o o |
A 21 =0 A, wtawm ams el 89, ffay amtas ofmeaet fi e & 9o o e S
fom fafore e ofmem © v F Fi TE TEE 2)| OOTS WS W SR T 95 F T O OF
HETIEE 1 A 24 FE7 7| SH] TR A# uqfﬁﬂi%ﬁlaﬁ WA U, AU, Ui fEagE,
T, SRR A oH T % 9 g 9 s w2

I A § F0 qeA F SAaR W etetgg gv = 59 A

Sub questions

Question Number : 146 Question Id : 5362284231 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g4 T3 1 o vl g e AEvEsae] 1 uRong 5 9wal 8 ¢

(1) TOF 3 fim aErEsaT (2) =E= 9 WO e sEvEEan
(3) Tum 3 wm TEtaE sEvaEan (4) =1 o= weg WA dEtET AETEEae |

Options :

53622816481. 1
53622816482. 2
53622816483.3
53622816484. 4

Question Number : 147 Question Id : 5362284232 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



14 fawd gewn g = TEE o 2 7
(1)  Tam= g Taa—Tiaa =l =0 s
(3)  weigd fawEl g vw maE &Y w0 s
(4) = fawm g famm i =+ s
Options :
53622816485. 1
53622816486. 2

53622816487. 3
53622816488. 4

Question Number : 148 Question Id : 5362284233 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
faoeTaoer THeH H FieaEa — Folta® Y w1 [EA B

(1) =it fagm o hae w5 = 76 5

(2) T T H faerg e T ® weE %

(3) =T e T

(4) =TT T AT A &

Options :

53622816489. 1
53622816490. 2
53622816491.3
53622816492. 4

Question Number : 149 Question Id : 5362284234 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TS T i A = e 2

(1) Tfye gftgzret i =men #5195 gfme § et F

(2) U giERA i sEwe w1 A g 5 i e

(3) fafim gftaea Fi =men = v ufors § Hifag s
(4)  I9UH H F HE TH
Options :

53622816493. 1
53622816494. 2



53622816495.3
53622816496. 4

Question Number : 150 Question Id : 5362284235 Question Type
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) AT = FEEIHF =9 T AHEE

(3)  TETAIEME SU=EEs

(4) TUTHATEET 1 3= guTs HEET § 92y
Options :
53622816497. 1
53622816498. 2

53622816499. 3
53622816500. 4

: MCQ Option Shuffling : No Is Question



